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”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0”� 16 ”strong=”c/7126|���������/��
x-morph=”OSHM:HC/Vhq3ms” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/6213|�������/��
a” x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��/���������|strong=”2403
b” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/�������|strong=”5930
a” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 17 ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”������/���|strong=”d/352
a” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0.0” strong=”6213|���������
a” x-morph=”OSHM:HVqi3ms” ”strong=”2077|������
x-morph=”OSHM:HNcmsc” ”strong=”8002|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0”
”strong=”5536|���� x-morph=”OSHM:HNcmsc”
”strong=”d/4682|���������/�� x-
morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1”
strong=”c/6213|�������/�� a” x-
morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”853|���
x-morph=”OSHM:HTo”��/���������|strong=”4503”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/��������|strong=”5262”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”0”� 18 ”strong=”c/1548|�������/��
x-morph=”OSHM:HC/Vpq3ms” ”strong=”d/5139|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1”
”strong=”6607|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”

”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc” ”strong=”5145|��/������
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/3947|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.2.1”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8181”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.0”
strong=”7218|������ a” x-morph=”OSHM:HNcmsc”
”strong=”5145|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/5414|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/784”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1”
strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”8478”
x-morph=”OSHM:HR” x-cantillationLevel=”0.0”
”strong=”2077|������ x-morph=”OSHM:HNcmsc”
”strong=”d/8002|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
19 ”strong=”c/3947|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/2220”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”1311|����������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.2.0”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/352
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/2471|�������/��� x-morph=”OSHM:HC/Ncfsc”
”strong=”4682|������� x-morph=”OSHM:HNcfsa”
”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.1.0” strong=”4480|���
a” x-morph=”OSHM:HR”�����/���|strong=”d/5536”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/7550|�������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”4682|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1”
”strong=”c/5414|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”3709”
x-morph=”OSHM:HNcfdc” ”strong=”d/5139|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”310|������ a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.0” ”strong=”1548|��/�������������
x-morph=”OSHM:HVtc/Sp3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”5145”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
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cantillationLevel=”0”� 20 strong=”c/5130|�������/��
b” x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” � ”strong=”8573|����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.3.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.3” ”strong=”6944|�������
x-morph=”OSHM:HNcmsa” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.2.0”
”strong=”l/3548|�������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0”
”strong=”2373|������ x-morph=”OSHM:HNcmsc”
”strong=”d/8573|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
x-cantillationLevel=”1.0” ”strong=”7785|������
x-morph=”OSHM:HNcfsc” ”strong=”d/8641|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
strong=”c/310|������/�� a” x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0.0” ”strong=”8354|����������
x-morph=”OSHM:HVqi3ms” ”strong=”d/5139|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3196|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 21 ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” ”strong=”8451|��������
x-morph=”OSHM:HNcfsc” ”strong=”d/5139|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5087|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.2” strong=”7133|��/���������
a” x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/�������|strong=”5145”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”1.0”
strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”5381”
x-morph=”OSHM:HVhi3fs” ”strong=”3027|��/����
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1”
”strong=”k/6310|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”5088|���/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5087|�������

x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.2”
strong=”3651|����� c” x-morph=”OSHM:HTm”
strong=”6213|��������� a” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0”
”strong=”8451|�������� x-morph=”OSHM:HNcfsc”
”strong=”5145|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� � 22 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
23 ”strong=”1696|�������� x-morph=”OSHM:HVpv2ms”
”strong=”413|���� x-morph=”OSHM:HR”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�/��������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp3ms”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1” ”strong=”3541|�����
x-morph=”OSHM:HD” ”strong=”1288|����������
x-morph=”OSHM:HVpi2mp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”559|������� x-morph=”OSHM:HVqa”
x-cantillationLevel=”0.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
� 24 ”strong=”1288|���/��������
x-morph=”OSHM:HVpj3ms/Sp2ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/8104|��/����������/��
x-morph=”OSHM:HC/Vqj3ms/Sp2ms”
x-cantillationLevel=”0”� � 25 ”strong=”215|������
x-morph=”OSHM:HVhj3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” � ”strong=”6440|�/�������
x-morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”0.0.0”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.0” strong=”c/2603|���/�������/���
a” x-morph=”OSHM:HC/Vqj3ms/Sp2ms”
x-cantillationLevel=”0”� � 26 ”strong=”5375|��������
x-morph=”OSHM:HVqj3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” � ”strong=”6440|��/������
x-morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1” strong=”c/7760|�������/��
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a” x-morph=”OSHM:HC/Vqj3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.0”
”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 27 strong=”c/7760|�������/��
a” x-morph=”OSHM:HC/Vqq3cp” ”strong=”853|���
x-morph=”OSHM:HTo”�/�������|strong=”8034”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”0.0” ”strong=”1288|�/���������
x-morph=”OSHM:HVpi1cs/Sp3mp” x-
cantillationLevel=”0”� �7 ”strong=”c/1961|������/��

x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.1”

”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”3615|��������� x-
morph=”OSHM:HVpc” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”l/6965|�������/��
b” x-morph=”OSHM:HR/Vhc”
”strong=”853|��� x-morph=”OSHM:HTo”�����������/���|strong=”d/4908”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” ”strong=”c/4886|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1.0.0” ”strong=”c/6942|����������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”�/��������|strong=”3627”
x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������/���|strong=”d/4196”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”�/��������|strong=”3627”
x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/4886|�/�����������/��
x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/6942|����������/��

x-morph=”OSHM:HC/Vpw3ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0”� 2
”strong=”c/7126|�������������/��
x-morph=”OSHM:HC/Vhw3mp” x-
cantillationLevel=”1.1.0” strong=”5387|����������
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”7218|�������� a”
x-morph=”OSHM:HNcmpc” x-
cantillationLevel=”1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc”
”strong=”1|�/������� x-
morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”1” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” x-
cantillationLevel=”0.1.0” strong=”5387|����������
a” x-morph=”OSHM:HNcmpc”
”strong=”d/4294|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” ”strong=”d/5975|���������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”����������/���|strong=”d/6485
a” x-morph=”OSHM:HTd/Vqsmpa”
x-cantillationLevel=”0”� 3
”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|��� x-morph=”OSHM:HTo”�/�����������|strong=”7133
a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.1.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”8337|����� x-morph=”OSHM:HAcfsa”���������|strong=”5699”
x-morph=”OSHM:HNcfpc” strong=”6632|����
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” ”strong=”c/8147|�������/��
x-morph=”OSHM:HC/Acmdc”
”strong=”6240|������� x-
morph=”OSHM:HAcmsa” ”strong=”1241|�������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.1” ”strong=”5699|��������
x-morph=”OSHM:HNcfsa” x-
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cantillationLevel=”1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”8147”
x-morph=”OSHM:HAcmdc” strong=”d/5387|�����������/��
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”c/7794|������/��
x-morph=”OSHM:HC/Ncmsa”
”strong=”l/259|������/�� x-
morph=”OSHM:HR/Acmsa” x-
cantillationLevel=”1” ”strong=”c/7126|������������/��
x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|�/������ x-
morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4908|�����������/��
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 4
”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” 4 We
read one or more accents in L dif-
ferently than BHS. Often this nota-
tion indicates a typographical error in
BHS. ”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 5 ”strong=”3947|����
x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”1.3.0” ”strong=”m/854|�/������/���
x-morph=”OSHM:HR/R/Sp3mp” x-
cantillationLevel=”1.3” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.2” ”strong=”l/5647|������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”5656”
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2ms”
”strong=”853|��/����� x-

morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”���������/���|strong=”d/3881”
x-morph=”OSHM:HTd/Ngmpa” x-
cantillationLevel=”0.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”k/6310|����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”5656|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 6
”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/5699”
x-morph=”OSHM:HTd/Ncfpa” x-
cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������/���|strong=”d/1241”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1” ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|�/������ x-
morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”���������/���|strong=”d/3881”
x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0”� 7
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”1.1.1.0” �
”strong=”8147|�������� x-
morph=”OSHM:HAcfdc” ”strong=”d/5699|��������/��
x-morph=”OSHM:HTd/Ncfpa” x-
cantillationLevel=”1.1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-
cantillationLevel=”1.1.0” ”strong=”702|�����������
x-morph=”OSHM:HAcmsc” ”strong=”d/1241|�������/��
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morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.1.1.1”
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11 Puncta extraordinaria – a 0̆5c4
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x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/8145|��������/��
x-morph=”OSHM:HTd/Aomsa” x-
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x-morph=”OSHM:HNcfpa” ”strong=”c/4844|���������/��
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x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”5375|��������
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x-cantillationLevel=”1.1.1” strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqq3ms” ”strong=”6453|�������
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x-morph=”OSHM:HVpi3ms/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/4758|�������/��
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
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12c
13p We read punctuation in L differently from BHS.



CONTENTS 79

cantillationLevel=”0”� 2 strong=”6213|�������
a” x-morph=”OSHM:HVqv2ms”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.1.1” ”strong=”8147|��������
x-morph=”OSHM:HAcfdc” x-
cantillationLevel=”1.1.0” ”strong=”2689|������������
x-morph=”OSHM:HNcfpc” ”strong=”3701|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”4749|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” strong=”6213|����������
a” x-morph=”OSHM:HVqi2ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”l/4744|��������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/5712|������/���
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1” ”strong=”c/l/4550|�������/��/��
x-morph=”OSHM:HC/R/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������/����|strong=”d/4264”
x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”0”� 3
”strong=”c/8628|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.0” ”strong=”b|����/���
x-morph=”OSHM:HR/Sp3fp” x-
cantillationLevel=”1” ”strong=”c/3259|����������/��
x-morph=”OSHM:HC/VNq3cp”
”strong=”413|���/������ x-
morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/����|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”6607”
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 4 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”������/����|strong=”b/259”
x-morph=”OSHM:HR/Acfsa” x-

cantillationLevel=”1.0” ”strong=”8628|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” ”strong=”c/3259|���������/��
x-morph=”OSHM:HC/VNq3cp”
”strong=”413|���/������ x-
morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.1.0” strong=”d/5387|������������/��
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1” strong=”7218|��������
a” x-morph=”OSHM:HNcmpc” x-
cantillationLevel=”0.0” ”strong=”505|��������
x-morph=”OSHM:HAcbpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”c/8628|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-
cantillationLevel=”1.0” ”strong=”8643|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” ”strong=”c/5265|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”0.1.0” ”strong=”d/4264|����������/���
x-morph=”OSHM:HTd/Ncbpa” x-
cantillationLevel=”0.1” ”strong=”d/2583|�������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”0.0” strong=”6924|�/�������
b” x-morph=”OSHM:HNcmsa/Sd”
x-cantillationLevel=”0”� 6
”strong=”c/8628|�����������/��
x-morph=”OSHM:HC/Vqq2mp”
”strong=”8643|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.2.0” ”strong=”8145|��������
x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1.2” ”strong=”c/5265|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.1.0” ”strong=”d/4264|����������/���
x-morph=”OSHM:HTd/Ncbpa” x-
cantillationLevel=”1.1” ”strong=”d/2583|�������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”1.0” ”strong=”8486|�/���������
x-morph=”OSHM:HNcfsa/Sd” x-
cantillationLevel=”1” ”strong=”8643|����������
x-morph=”OSHM:HNcfsa” ”strong=”8628|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0.0” ”strong=”l/4550|����/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”0”� 7



80 CONTENTS

”strong=”c/b/6950|���������/��/��
x-morph=”OSHM:HC/R/Vhc” x-
cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/6951”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”8628|�����������
x-morph=”OSHM:HVqi2mp” x-
cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7321|���������
x-morph=”OSHM:HVhi2mp” x-
cantillationLevel=”0”� 8 strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc”
”strong=”175|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”d/3548|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1” ”strong=”8628|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.0” ”strong=”b/2689|�����������/����
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0.0” ”strong=”l/2708|�������/��
x-morph=”OSHM:HR/Ncbsc”
”strong=”5769|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”l/1755|����/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”0”� 9
strong=”c/3588|����/�� a” x-
morph=”OSHM:HC/C”���������|strong=”935”
x-morph=”OSHM:HVqi2mp” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1.1.0” ”strong=”b/776|����/������/���
x-morph=”OSHM:HR/Ncbsc/Sp2mp”
x-cantillationLevel=”1.1.1” strong=”5921|���
a” x-morph=”OSHM:HR”�����/���|strong=”d/6862
c” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” strong=”d/6887|�������/��
d” x-morph=”OSHM:HTd/Vqrmsa”
”strong=”853|����/���� x-
morph=”OSHM:HTo/Sp2mp” x-
cantillationLevel=”1.1” ”strong=”c/7321|����������/��

x-morph=”OSHM:HC/Vhq2mp” x-
cantillationLevel=”1.0” ”strong=”b/2689|�����������/���
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”1” ”strong=”c/2142|��������������/��
x-morph=”OSHM:HC/VNq2mp” x-
cantillationLevel=”0.1.1” 14 BHS
has been faithful to the Leningrad
Codex where there might be a ques-
tion of the validity of the form
and we keep the same form as
BHS. ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” x-
cantillationLevel=”0.1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”c/3467|�������������/��
x-morph=”OSHM:HC/VNq2mp” x-
cantillationLevel=”0.0” ”strong=”m/341|����/�������/��
x-morph=”OSHM:HR/Vqrmpc/Sp2mp”
x-cantillationLevel=”0”� 10
”strong=”c/b/3117|�����/��/��
x-morph=”OSHM:HC/R/Ncmsc”
”strong=”8057|����/���������
x-morph=”OSHM:HNcfsc/Sp2mp”
”strong=”c/b/4150|����/��������/��/���
x-morph=”OSHM:HC/R/Ncmpc/Sp2mp”
x-cantillationLevel=”1.2.0” strong=”c/b/7218|��������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc”
”strong=”2320|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.2” ”strong=”c/8628|�����������/��
x-morph=”OSHM:HC/Vqq2mp”
”strong=”b/2689|�����������/���
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”1.1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-
cantillationLevel=”1.1.0” strong=”5930|����/��������
a” x-morph=”OSHM:HNcfpc/Sp2mp”
x-cantillationLevel=”1.1” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R” x-
cantillationLevel=”1.0” ”strong=”2077|��������
x-morph=”OSHM:HNcmpc” ”strong=”8002|����/��������
x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/1961|������/��

141



CONTENTS 81

x-morph=”OSHM:HC/Vqq3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
”strong=”l/2146|����������/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”430|����/�������� x-
morph=”OSHM:HNcmpc/Sp2mp” x-
cantillationLevel=”0.1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/�������
x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0”� � 11
”strong=”c/1961|������/�� x-
morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0.0.0” ”strong=”b/8141|��������/���
x-morph=”OSHM:HRd/Ncfsa”
”strong=”d/8145|���������/��
x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”1.0.0” ”strong=”b/2320|�������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/8145|��������/��
x-morph=”OSHM:HTd/Aamsa” x-
cantillationLevel=”1.0” ”strong=”b/6242|����������/���
x-morph=”OSHM:HR/Acbpa”
”strong=”b/2320|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”5927|��������
x-morph=”OSHM:HVNp3ms” x-
cantillationLevel=”0.1.0” ”strong=”d/6051|������/���
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” x-
cantillationLevel=”0.0” ”strong=”4908|����������
x-morph=”OSHM:HNcmsc” ”strong=”d/5715|������/��
x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 12
”strong=”c/5265|���������/��
x-morph=”OSHM:HC/Vqw3mp”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”l/4550|����/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.0” strong=”m/4057|����������/��
b” x-morph=”OSHM:HR/Ncmsc”

”strong=”5514|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/7931|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/6051|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” strong=”b/4057|���������/���
b” x-morph=”OSHM:HR/Ncmsc”
”strong=”6290|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 13 ”strong=”c/5265|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.0” ”strong=”b/7223|����������/���
x-morph=”OSHM:HRd/Aafsa” x-
cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”6310”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
14 ”strong=”c/5265|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0.0.0” ”strong=”1714|�������
x-morph=”OSHM:HNcmsc” ”strong=”4264|��������
x-morph=”OSHM:HNcbsc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”b/7223|����������/���
x-morph=”OSHM:HRd/Aafsa” x-
cantillationLevel=”1.0” strong=”l/6635|�/���������/��
a” x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”5177|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������������|strong=”5992”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
15 strong=”c/5921|����/�� a” x-
morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-
cantillationLevel=”1.1” ”strong=”4294|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3485|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”5417|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”6686”



82 CONTENTS

x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
16 strong=”c/5921|����/�� a” x-
morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”2074|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”446|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”��������|strong=”2497”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
17 ”strong=”c/3381|�������/��
x-morph=”OSHM:HC/VHq3ms” x-
cantillationLevel=”1.0” ”strong=”d/4908|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/5265|��������/��
x-morph=”OSHM:HC/Vqq3cp” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”�����������|strong=”1648”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”
”strong=”4847|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”5375|���������
x-morph=”OSHM:HVqrmpc” x-cantillationLevel=”0.0”
”strong=”d/4908|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
� 18 ”strong=”c/5265|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0.1”
”strong=”1714|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0.0” ”strong=”4264|��������
x-morph=”OSHM:HNcbsc” ”strong=”7205|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”l/6635|�/���������/��
a” x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”468|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”7707”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
19 strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”8095|����������

x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”8017|������������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”6701+”
x-morph=”OSHM:HNp” ”strong=”6701|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
20 strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.0”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
strong=”1121|����� a” x-morph=”OSHM:HNcmpc”�����|strong=”1410”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”460|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�����������|strong=”1845”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
21 ”strong=”c/5265|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0”
”strong=”d/6956|����������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1”
”strong=”5375|��������� x-morph=”OSHM:HVqrmpc”
x-cantillationLevel=”1.0” ”strong=”d/4720|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”c/6965|���������/�� b”
x-morph=”OSHM:HC/Vhq3cp” ”strong=”853|���
x-morph=”OSHM:HTo”�����������/���|strong=”d/4908”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”5704|��� x-morph=”OSHM:HR”�/�������|strong=”935”
x-morph=”OSHM:HVqc/Sp3mp” x-cantillationLevel=”0”�
� 22 ”strong=”c/5265|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0.1”
”strong=”1714|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0.0” ”strong=”4264|��������
x-morph=”OSHM:HNcbsc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”�����������|strong=”669”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”l/6635|�/���������/��
a” x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”476|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”5989”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
23 strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”



CONTENTS 83

”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”4519|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”1583|������������ x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������|strong=”6301”
x-morph=”OSHM:HNp”������|strong=”6301”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
24 strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”1144|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”27|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�������������|strong=”1441”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 25 ”strong=”c/5265|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.1.1”
”strong=”1714|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.1.0” ”strong=”4264|��������
x-morph=”OSHM:HNcbsc” strong=”1121|�����
a” x-morph=”OSHM:HNcmpc”�����|strong=”1835”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”622|��������� x-morph=”OSHM:HVprmsa”
”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”���������/����|strong=”d/4264”
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.0”
strong=”l/6635|�/���������/��
a” x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”295|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������������|strong=”5996”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
15We read punctuation in L differently from
BHS. 26 strong=”c/5921|���/�� a”
x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������

a” x-morph=”OSHM:HNcmpc” ”strong=”836|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”6295|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”���������|strong=”5918”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
27 strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.1”
”strong=”4294|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”5321|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”299|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”��������|strong=”5881”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
28 ”strong=”428|������� x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.0.0” ”strong=”4550|��������
x-morph=”OSHM:HNcmpc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”l/6635|�/���������/��
a” x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/5265|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”�
� 29 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
”strong=”l/2246|�����/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.2.0.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”����������|strong=”7467”
x-morph=”OSHM:HNp” ”strong=”d/4084|�����������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.2.0”
strong=”2859|������ a” x-morph=”OSHM:HVqrmsc”
”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”5265|���������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1.1.0”
� ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
x-cantillationLevel=”1.1.1” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”

15p
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x-cantillationLevel=”1.1” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.0”
”strong=”5414|������� x-morph=”OSHM:HVqi1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1” ”strong=”3212|�/�����
x-morph=”OSHM:HVqv2ms/Sh” ”strong=”854|����/������
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1.0”
”strong=”c/3190|����������/��
x-morph=”OSHM:HC/Vhq1cp” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”1696|�������
x-morph=”OSHM:HVpp3ms”������|strong=”2896
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
30 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”3212|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1” strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|���
b” x-morph=”OSHM:HC”����|strong=”413”
x-morph=”OSHM:HR”�/��������|strong=”776”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0.0”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�/������������|strong=”4138”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”3212|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 31 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1”
”strong=”408|��� x-morph=”OSHM:HTn”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.0”
strong=”5800|��������� a” x-morph=”OSHM:HVqj2ms”
”strong=”853|���/����� x-morph=”OSHM:HTo/Sp1cp”
x-cantillationLevel=”1” strong=”3588|�����
c” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.1.0”
� strong=”5921|��� b” x-morph=”OSHM:HR”������|strong=”3651
b” x-morph=”OSHM:HTm” ”strong=”3045|����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.1.1”
”strong=”2583|����/������� x-morph=”OSHM:HVqc/Sp1cp”
x-cantillationLevel=”0.1.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”l|���/���� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.0” strong=”l/5869|���������/��

a” x-morph=”OSHM:HR/Ncbda” x-cantillationLevel=”0”�
32 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.0” strong=”3588|����
a” x-morph=”OSHM:HC”��������|strong=”3212”
x-morph=”OSHM:HVqi2ms” strong=”5973|���/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0.1.0” � strong=”d/2896|������/��
b” x-morph=”OSHM:HTd/Aamsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.0.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3190|�������� x-morph=”OSHM:HVhi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” strong=”5973|���/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0”
”strong=”c/3190|����������/��
x-morph=”OSHM:HC/Vhq1cp” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
33 ”strong=”c/5265|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0”
”strong=”m/2022|����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”1870|��������
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.0”
”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/727|�������/��
x-morph=”OSHM:HC/Ncbsc” ”strong=”1285|�������
x-morph=”OSHM:HNcfsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0”
”strong=”5265|������� x-morph=”OSHM:HVqrmsa”
”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0.1.1” ”strong=”1870|��������
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.1.0”
”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1” ”strong=”l/8446|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
”strong=”4496|��������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 34 ”strong=”c/6051|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”3119|�������
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x-morph=”OSHM:HD” x-cantillationLevel=”1”
”strong=”b/5265|�/�������/���
x-morph=”OSHM:HR/Vqc/Sp3mp” x-
cantillationLevel=”0.0” strong=”4480|���
a” x-morph=”OSHM:HR”���������/����|strong=”d/4264”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
16 Inverted nun in the text. � � 35
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0” ”strong=”b/5265|�������/���
x-morph=”OSHM:HR/Vqc” ”strong=”d/727|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”6965|�/������
b” x-morph=”OSHM:HVqv2ms/Sh” x-
cantillationLevel=”0.1.1.0” � ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
strong=”c/6327|���������/�� a”
x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”0.1.0”
”strong=”341|��/��������� x-morph=”OSHM:HVqrmpc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”c/5127|��������/��
x-morph=”OSHM:HC/Vqi3mp” ”strong=”8130|��/�����������
x-morph=”OSHM:HVprmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”m/6440|��/�������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms”
x-cantillationLevel=”0”� 36 ”strong=”c/b/5117|�/�����/��/��
x-morph=”OSHM:HC/R/Vqc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”559|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
”strong=”7725|�/������� x-morph=”OSHM:HVqv2ms/Sh”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”7233|����������
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.0”
”strong=”505|�������� x-morph=”OSHM:HAcbpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 17 Inverted
nun in the text. � �

11 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/��

a” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” ”strong=”k/596|��������������/���
x-morph=”OSHM:HR/Vrrmpa” x-

cantillationLevel=”1.1” strong=”7451|����
b” x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1.0” ”strong=”b/241|��������/���
x-morph=”OSHM:HR/Ncfdc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/8085|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”c/2734|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”639|��/����� x-
morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”0.2” strong=”c/1197|��������/��
a” x-morph=”OSHM:HC/Vqw3fs”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.1.0” ”strong=”784|�����
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0” strong=”b/7097|������/���
a” x-morph=”OSHM:HR/Ncbsc”
”strong=”d/4264|���������/���
x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 2
”strong=”c/6817|���������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/�� a” x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/6419|�������������/��
x-morph=”OSHM:HC/Vtw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/8257|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”0.0” ”strong=”d/784|�����/��
x-morph=”OSHM:HTd/Ncbsa”

168
178
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x-cantillationLevel=”0”� 3
”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0.0” ”strong=”8034|�����
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/1931|�����/�� x-
morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”1.0” ”strong=”8404|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|����� a” x-
morph=”OSHM:HC”���������|strong=”1197
a” x-morph=”OSHM:HVqp3fs”
”strong=”b|�/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”784|�����
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
4 ”strong=”c/d/628|���������/���/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/7130|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”183|�����������
x-morph=”OSHM:HVtp3cp” x-
cantillationLevel=”1.0” ”strong=”8378|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqw3mp”
”strong=”c/1058|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.2.1” ”strong=”1571|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.2.0”
strong=”1121|������� a” x-
morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.1” ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”398|���/���������
x-morph=”OSHM:HVhi3ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”1320|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 5 ”strong=”2142|�����������
x-morph=”OSHM:HVqp1cp” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1710”

x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”398”
x-morph=”OSHM:HVqi1cp” ”strong=”b/4714|����������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.0” ”strong=”2600|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1”
”strong=”853|���� x-morph=”OSHM:HTo”
”strong=”d/7180|������������/��
x-morph=”OSHM:HTd/Ncfpa” x-
cantillationLevel=”0.1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-
cantillationLevel=”0.1.0” ”strong=”d/20|������������/���
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������/���|strong=”d/2682
b” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/853|���/�� x-
morph=”OSHM:HC/To”����������/���|strong=”d/1211”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������/���|strong=”d/7762”
x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 6
”strong=”c/6258|�������/�� x-
morph=”OSHM:HC/D” x-cantillationLevel=”1.0.0”
”strong=”5315|���/��������
x-morph=”OSHM:HNcbsc/Sp1cp”
”strong=”3002|���������
x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”3605|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”1115|����������
x-morph=”OSHM:HC” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”d/4478
a” x-morph=”OSHM:HTd/Ncmsa”
strong=”5869|���/������� a”
x-morph=”OSHM:HNcbdc/Sp1cp”
x-cantillationLevel=”0”� 7
strong=”c/d/4478|�����/��/��
a” x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”k/2233|�����/���
x-morph=”OSHM:HR/Ncmsc”������|strong=”1407”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”1931|�����
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x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”1” strong=”c/5869|��/�����/��
a” x-morph=”OSHM:HC/Ncbsc/Sp3ms”
x-cantillationLevel=”0.0” strong=”k/5869|�����/���
a” x-morph=”OSHM:HR/Ncbsc”
”strong=”d/916|���������/��
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 8
strong=”7751|������� a” x-
morph=”OSHM:HVqp3cp” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/3950|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.2.1.0” ”strong=”c/2912|��������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”b/7347|��������/��
x-morph=”OSHM:HRd/Ncmda” x-
cantillationLevel=”1.2.1” strong=”176|����
a” x-morph=”OSHM:HC” ”strong=”1743|������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.2.0” ”strong=”b/4085|���������/���
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1.2” ”strong=”c/1310|����������/��
x-morph=”OSHM:HC/Vpq3cp” x-
cantillationLevel=”1.1.0” ”strong=”b/6517|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.1” strong=”c/6213|�������/��
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morph=”OSHM:HVpp3ms” x-
cantillationLevel=”1” ”strong=”c/8085|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

3 ”strong=”c/d/376|������/��/��
x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”6035|��� x-morph=”OSHM:HAamsa”
x-wType=”x-ketiv” 18 ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”1”
”strong=”m/3605|�����/�� x-
morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”0.1.0” ”strong=”d/120|������/���
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0”� � 4
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”6597|��������� x-
morph=”OSHM:HD” x-cantillationLevel=”1.1.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”c/413|����/��
x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/413|���/�� x-
morph=”OSHM:HC/R”���������|strong=”4813”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3318|������ x-morph=”OSHM:HVqv2mp”
”strong=”7969|����/�����������
x-morph=”OSHM:HAcmsc/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”168”
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.0” ”strong=”7969|�/������������
x-morph=”OSHM:HAcmsc/Sp3mp”
x-cantillationLevel=”0”� 5
”strong=”c/3381|�������/��

18+ ”strong=”6035|���������� x-morph=”OSHM:HAamsa”
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x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/5982|��������/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”6051|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/5975|���������/���
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0” ”strong=”6607|�������
x-morph=”OSHM:HNcmsc” ”strong=”d/168|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1.0” ”strong=”175|��������
x-morph=”OSHM:HNp” ”strong=”c/4813|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.1” ”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.0” ”strong=”8147|����/������
x-morph=”OSHM:HAcmdc/Sp3mp”
x-cantillationLevel=”0”� 6
”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0” ”strong=”8085|��������
x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”1697|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-
cantillationLevel=”1” strong=”518|���
a” x-morph=”OSHM:HC”����������|strong=”1961”
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.2.0” ”strong=”5030|����/��������
x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”0.2” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
strong=”b/4759|���������/���
a” x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”0.1.0” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms”
”strong=”3045|�����������
x-morph=”OSHM:HVti1cs” x-
cantillationLevel=”0.1” ”strong=”b/2472|�������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”1696|��������
x-morph=”OSHM:HVpi1cs”��/����|strong=”b”

x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 7
”strong=”3808|��� x-morph=”OSHM:HTn”�����|strong=”3651
c” x-morph=”OSHM:HD” x-
cantillationLevel=”1.0” ”strong=”5650|�/��������
x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”b/3605|���/��� x-
morph=”OSHM:HR/Ncmsc”�/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”539|��������
x-morph=”OSHM:HVNrmsa” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”0”� 8 ”strong=”6310|�����
x-morph=”OSHM:HNcmsa” ”strong=”413|���
x-morph=”OSHM:HR”������|strong=”6310”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.1.0” ”strong=”1696|��������
x-morph=”OSHM:HVpi1cs”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.1.1” ”strong=”c/4758|��������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”1.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”b/2420|�������/��
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”1.1” ”strong=”c/8544|��������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5027|�������� x-
morph=”OSHM:HVhi3ms” x-
cantillationLevel=”1” ”strong=”c/4069|����������/��
x-morph=”OSHM:HC/Ti” x-
cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3372|���������
x-morph=”OSHM:HVqp2mp” x-
cantillationLevel=”0.1” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” x-
cantillationLevel=”0.0” ”strong=”b/5650|�/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp1cs”
”strong=”b/4872|�������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� 9 ”strong=”c/2734|�������/��
x-morph=”OSHM:HC/Vqw3ms” 19
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BHS has been faithful to the Leningrad
Codex where there might be a
question of the validity of the
form and we keep the same form
as BHS. ”strong=”639|���� x-
morph=”OSHM:HTa” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0”� 10 ”strong=”c/d/6051|������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1.1.1” ”strong=”5493|����
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”d/168|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”4813|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”6879|���������� x-
morph=”OSHM:HVPsfsa” ”strong=”k/7950|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/6437|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”175|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”4813”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/2009|�������/�� x-
morph=”OSHM:HC/Tm” ”strong=”6879|����������
x-morph=”OSHM:HVPsfsa” x-cantillationLevel=”0”�
11 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”175|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”994|����� x-morph=”OSHM:HTe”
”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.2” ”strong=”408|���
x-morph=”OSHM:HTn”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”7896|�������
x-morph=”OSHM:HVqj2ms” strong=”5921|����/������
a” x-morph=”OSHM:HR/Sp1cp” x-
cantillationLevel=”0.1.0” strong=”2403|��������

b” x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2973|�����������
x-morph=”OSHM:HVNp1cp” x-
cantillationLevel=”0.0” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”2398|���������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0”�
12 ”strong=”408|��� x-morph=”OSHM:HTn”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”1961|������
x-morph=”OSHM:HVqj3fs” x-cantillationLevel=”1.0”
”strong=”k/4191|�����/��� x-
morph=”OSHM:HRd/Vqrmsa” x-
cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/3318|���/����/���
x-morph=”OSHM:HR/Vqc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”m/7358|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”517|��/�����
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.1” ”strong=”c/398|���������/��
x-morph=”OSHM:HC/VNw3ms” x-
cantillationLevel=”0.0” ”strong=”2677|������
x-morph=”OSHM:HNcmsc” ”strong=”1320|��/�������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 13 ”strong=”c/6817|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”410|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”4994|���� x-morph=”OSHM:HTe”
x-cantillationLevel=”0.0.0” ”strong=”7495|������
x-morph=”OSHM:HVqv2ms” ”strong=”4994|����
x-morph=”OSHM:HTe” x-cantillationLevel=”0.0”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� � 14 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”c/1|���/������/�� x-
morph=”OSHM:HC/Ncmsc/Sp3fs” x-cantillationLevel=”1.1.1”
”strong=”3417|������ x-morph=”OSHM:HVqa”
”strong=”3417|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0” ”strong=”b/6440|��/������/���
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x-morph=”OSHM:HR/Ncbpc/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn” ”strong=”3637|���������
x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”1.0”
”strong=”7651|��������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”5462|����������
x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”0.1.0.0”
”strong=”7651|��������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”m/2351|�����/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”l/4264|���������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
strong=”c/310|������/�� a” x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0” ”strong=”622|���������
x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”0”�
15 ”strong=”c/5462|����������/��
x-morph=”OSHM:HC/VNw3fs” ”strong=”4813|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”m/2351|�����/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”l/4264|���������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”7651|��������� x-morph=”OSHM:HAcmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” strong=”c/d/5971|����/��/��
a” x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5265|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1”
”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”622”
x-morph=”OSHM:HVNc” x-cantillationLevel=”0.0”
”strong=”4813|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 16 strong=”c/310|������/��
a” x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0.0”
”strong=”5265|�������� x-morph=”OSHM:HVqp3cp”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”m/2698|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/2583|���������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0”
strong=”b/4057|���������/���
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”6290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�13 ”strong=”c/1696|���������/��

x-morph=”OSHM:HC/Vpw3ms”

”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 2 ”strong=”7971|������
x-morph=”OSHM:HVqv2ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms”
”strong=”376|���������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.1” ”strong=”c/8446|���������/��
x-morph=”OSHM:HC/Vqi3mp” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”776”
x-morph=”OSHM:HNcbsc” strong=”3667|���������
a” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”589”
x-morph=”OSHM:HPp1cs” ”strong=”5414|������
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”1.0” strong=”l/1121|������/��
a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”l/4294|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”1|��/������� x-
morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0.1.0” ”strong=”7971|������������
x-morph=”OSHM:HVqi2mp” x-
cantillationLevel=”0.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” strong=”5387|��������
a” x-morph=”OSHM:HNcmsa”
”strong=”b|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 3
”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
strong=”m/4057|����������/��
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b” x-morph=”OSHM:HR/Ncmsc”
”strong=”6290|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”6310”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”3605|�/������� x-
morph=”OSHM:HNcmsc/Sp3mp”
”strong=”376|���������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1” strong=”7218|��������
a” x-morph=”OSHM:HNcmpc”
strong=”1121|������ a” x-
morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1992|������� x-
morph=”OSHM:HPp3mp” x-
cantillationLevel=”0”� 4 ”strong=”c/428|�������/��
x-morph=”OSHM:HC/Pdxcp” x-
cantillationLevel=”1.0” ”strong=”8034|�/���������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”l/4294|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”7205|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”8051|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”2139”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”l/4294|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”8095|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”8202|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”2753”
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6 ”strong=”l/4294|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”3063|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3612|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”3312”
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x-morph=”OSHM:HR/Ncmsc”
”strong=”3485|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3008|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
8 ”strong=”l/4294|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”669|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1954|��������� x-
morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”������|strong=”5126”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
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x-morph=”OSHM:HR/Ncmsc”
”strong=”1144|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”6406|��������� x-
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x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/3423|����/���������/��
x-morph=”OSHM:HC/Vhi1cs/Sp3ms”
x-cantillationLevel=”1” strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqi1cs” x-
cantillationLevel=”0.1.0” ”strong=”853|���/�����
x-morph=”OSHM:HTo/Sp2ms” x-
cantillationLevel=”0.1” strong=”l/1471|����/��
a” x-morph=”OSHM:HR/Ncmsa”���������|strong=”1419
a” x-morph=”OSHM:HAamsa” ”strong=”c/6099|�������/��

x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”0.0”
strong=”4480|����/������ a” x-
morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
13 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/8085|���������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”4713|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”�����������|strong=”5927”
x-morph=”OSHM:HVhp2ms” strong=”b/3581|���/����/��
b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.0” ”strong=”m/7130|��/��������/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 14 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.2.1” ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”3427”
x-morph=”OSHM:HVqrmsc” x-cantillationLevel=”1.2.0”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/2063|������/�� x-
morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.2”
”strong=”8085|���������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”b/7130|������/��� x-
morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”5869
a” x-morph=”OSHM:HNcbsa” strong=”b/5869|������/���
a” x-morph=”OSHM:HR/Ncbsa” x-
cantillationLevel=”0.2.1.1” ”strong=”7200|��������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.2.1.0”
� strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1” ”strong=”c/6051|���/�������/��
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x-morph=”OSHM:HC/Ncmsc/Sp2ms”
x-cantillationLevel=”0.2.0” ”strong=”5975|������
x-morph=”OSHM:HVqrmsa” strong=”5921|����/����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.2” ”strong=”c/b/5982|�������/��/��
x-morph=”OSHM:HC/R/Ncmsc” ”strong=”6051|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1”
strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”1980|������� x-morph=”OSHM:HVqrmsa”
”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”3119|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1”
”strong=”c/b/5982|��������/��/��
x-morph=”OSHM:HC/R/Ncmsc” ”strong=”784|�����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0”
”strong=”3915|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 15 ”strong=”c/4191|���������/��
x-morph=”OSHM:HC/Vhp2ms” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0”
”strong=”k/376|������/��� x-
morph=”OSHM:HR/Ncmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1”
”strong=”c/559|���������/�� x-
morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.1.0”
strong=”d/1471|��������/�� a”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”8085”
x-morph=”OSHM:HVqp3cp” ”strong=”853|����
x-morph=”OSHM:HTo”���/��������|strong=”8088
b” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
16 ”strong=”m/1115|����������/��
x-morph=”OSHM:HR/Tn” x-cantillationLevel=”1.1.1.0”
”strong=”3201|�������� x-morph=”OSHM:HVqc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”l/935|�������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0”

strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”7650”
x-morph=”OSHM:HVNp3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
strong=”c/7819|�/�����������/��
a” x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”0.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0”� 17 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1”
”strong=”1431|�������� x-morph=”OSHM:HVqj3ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.0”
strong=”3581|������ b” x-morph=”OSHM:HNcmsc”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1696|������������
x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 18 ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”750|������� x-morph=”OSHM:HAamsc”
”strong=”639|���������� x-morph=”OSHM:HNcmda”
x-cantillationLevel=”1.1.0” strong=”c/7227|���/��
a” x-morph=”OSHM:HC/Aamsc”�������|strong=”2617
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”5375|������� x-morph=”OSHM:HVqrmsa”
”strong=”5771|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0” ”strong=”c/6588|�������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1”
”strong=”c/5352|�������/�� x-morph=”OSHM:HC/Vpa”
x-cantillationLevel=”0.2.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5352|���������
x-morph=”OSHM:HVpi3ms” x-cantillationLevel=”0.2”
strong=”6485|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”5771|������
x-morph=”OSHM:HNcbsc” ”strong=”1|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”1121
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
strong=”5921|��� a” x-morph=”OSHM:HR”�������������|strong=”8029”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����������|strong=”7256”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
19 ”strong=”5545|������ x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.0.1”
”strong=”l/5771|������/�� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”1.0.0” strong=”d/5971|����/��
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a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0”
”strong=”k/1433|������/��� x-morph=”OSHM:HR/Ncmsc”
strong=”2617|��/�������� a” x-
morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1”
strong=”c/k/834|�������/��/��
d” x-morph=”OSHM:HC/R/Tr” ”strong=”5375|�����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.1.0”
strong=”l/5971|����/�� a” x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.1” ”strong=”m/4714|�����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”��������|strong=”2008”
x-morph=”OSHM:HD” x-cantillationLevel=”0”�
20 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”5545|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”k/1697|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0”� 21 ”strong=”c/199|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0”
strong=”2416|��� a” x-morph=”OSHM:HAamsa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1”
”strong=”c/4390|���������/�� x-
morph=”OSHM:HC/VNi3ms” ”strong=”3519|������
x-morph=”OSHM:HNcbsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
22 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1”
”strong=”d/7200|�������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”3519”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/���������|strong=”226”
x-morph=”OSHM:HNcbpc/Sp1cs” x-
cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” ”strong=”b/4714|����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
strong=”c/b/4057|����������/��/��
b” x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5254|���������/��

x-morph=”OSHM:HC/Vpw3mp” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”0.1.1”
”strong=”2088|���� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”0.1.0” ”strong=”6235|�������
x-morph=”OSHM:HAcfsa” ”strong=”6471|����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”8085|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” strong=”b/6963|�/������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0”� 23 strong=”518|���
a” x-morph=”OSHM:HC”���������|strong=”7200”
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7650|���������������
x-morph=”OSHM:HVNp1cs” x-cantillationLevel=”1.0”
”strong=”l/1|�/�������/�� x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�/����������|strong=”5006”
x-morph=”OSHM:HVprmpc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7200|��/��������
x-morph=”OSHM:HVqi3mp/Sp3fs” x-
cantillationLevel=”0”� 24 ”strong=”c/5650|�/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs”
”strong=”3612|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”6118|������
x-morph=”OSHM:HC” ”strong=”1961|���������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.1.0.0”
”strong=”7307|������ x-morph=”OSHM:HNcbsa”
”strong=”312|��������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.1.0” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”c/4390|���������/�� x-
morph=”OSHM:HC/Vpw3ms” x-cantillationLevel=”1.0”
strong=”310|�/������� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/935|�/������������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”413|���
x-morph=”OSHM:HR”�������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.0”
strong=”834|������ a” x-morph=”OSHM:HTr”������|strong=”935”
x-morph=”OSHM:HVqp3ms” ”strong=”8033|�/�������
x-morph=”OSHM:HD/Sd” x-cantillationLevel=”0.1”
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”strong=”c/2233|��/������/�� x-
morph=”OSHM:HC/Ncmsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”3423|����/���������
x-morph=”OSHM:HVhi3ms/Sp3fs” x-
cantillationLevel=”0”� 25 ”strong=”c/d/6003|����������/���/��
x-morph=”OSHM:HC/Td/Ngmsa” strong=”c/d/3669|�����������/���/��
a” x-morph=”OSHM:HC/Td/Ngmsa”
x-cantillationLevel=”1.0” ”strong=”3427|��������
x-morph=”OSHM:HVqrmsa” ”strong=”b/6010|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”4279|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0.1” ”strong=”6437|�������
x-morph=”OSHM:HVqv2mp” ”strong=”c/5265|������/��
x-morph=”OSHM:HC/Vqv2mp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0.0”
strong=”d/4057|����������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”1870|�������� x-morph=”OSHM:HNcbsc”
”strong=”3220|��� x-morph=”OSHM:HNcmsc”������|strong=”5488”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
� 26 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”c/413|����/��
x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 27 ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”4970”
x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.1”
”strong=”l/5712|������/�� x-morph=”OSHM:HRd/Ncfsa”
strong=”d/7451|������/��� a” x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1.1.0” ”strong=”d/2063|������/��
x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.0.0” ”strong=”1992|�������
x-morph=”OSHM:HPp3mp” strong=”3885|�����������
b” x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”1.0”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”8519”
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.0.1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1” strong=”834|�������

a” x-morph=”OSHM:HTr” ”strong=”1992|�������
x-morph=”OSHM:HPp3mp” strong=”3885|�����������
b” x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”0.0.0”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”8085|������������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0”�
28 ”strong=”559|������ x-morph=”OSHM:HVqv2ms”
”strong=”413|����/���� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2.1” strong=”2416|���
a” x-morph=”OSHM:HAamsa”��������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.2.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” x-cantillationLevel=”1.1”
strong=”k/834|�������/��� d” x-
morph=”OSHM:HR/Tr” ”strong=”1696|�������������
x-morph=”OSHM:HVpp2mp” x-cantillationLevel=”1.0”
”strong=”b/241|�/�������/��� x-
morph=”OSHM:HR/Ncfdc/Sp1cs” x-cantillationLevel=”1”
strong=”3651|����� c” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.0” strong=”6213|����������
a” x-morph=”OSHM:HVqi1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0”�
29 strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/2088|����/���
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1.0.1”
”strong=”5307|��������� x-morph=”OSHM:HVqi3mp”
”strong=”6297|����/������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.1.0.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”����/���������|strong=”6485
a” x-morph=”OSHM:HVqsmpc/Sp2mp”
x-cantillationLevel=”1.1.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”����/����������|strong=”4557”
x-morph=”OSHM:HNcmsc/Sp2mp” x-
cantillationLevel=”1.1” strong=”m/1121|�����/��
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”strong=”c/175|��������/�� x-
morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”4279|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 17 ”strong=”c/3947|������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.2.1.0”
� ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”4289|��/��������� x-
morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.2.1”
”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2mp” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1.2.0” ”strong=”7004|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2”
”strong=”c/7126|�������������/��
x-morph=”OSHM:HC/Vhq2mp” x-cantillationLevel=”1.1.0.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”4289|��/���������
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”2572|�����������
x-morph=”OSHM:HAcbpa” ”strong=”c/3967|���������/��
x-morph=”OSHM:HC/Acbda” x-cantillationLevel=”1.0”
”strong=”4289|��������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1” strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms” ”strong=”c/175|��������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”4289|��/��������� x-
morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”�
18 ”strong=”c/3947|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”4289|��/��������� x-
morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1.1”
”strong=”c/5414|����������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0”
”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” strong=”c/7760|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” strong=”5921|����/�����

a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
”strong=”7004|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/5975|�����������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0.1”
”strong=”6607|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/4872|�������/�� x-morph=”OSHM:HC/Np”
”strong=”c/175|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 19 ”strong=”c/6950|���������/��
x-morph=”OSHM:HC/Vhw3ms” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” ”strong=”7141|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������/����|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”6607”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”168|������ x-morph=”OSHM:HNcmsc”
”strong=”4150|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”3519|������
x-morph=”OSHM:HNcbsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
� 20 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”c/413|����/��
x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 21 ”strong=”914|������������
x-morph=”OSHM:HVNv2mp” x-cantillationLevel=”1.1”
”strong=”m/8432|�������/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”d/5712|������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/��
x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
”strong=”c/3615|���������/�� x-
morph=”OSHM:HC/Vph1cs” 22 BHS

221



126 CONTENTS

has been faithful to the Leningrad Codex
where theremight be a question of the va-
lidity of the form andwe keep the same
form as BHS. ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.0”
”strong=”k/7281|������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 22 ”strong=”c/5307|����������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”5921|���
a” x-morph=”OSHM:HR”����/�������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3mp” x-
cantillationLevel=”1.2.0” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.2”
”strong=”410|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” ”strong=”d/7307|�������/��
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.0”
”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”���������|strong=”1320”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.1.0” ”strong=”2398|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1”
strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”7107|��������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� � 23 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
24 ”strong=”1696|�������� x-morph=”OSHM:HVpv2ms”
”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”5927|���������
x-morph=”OSHM:HVNv2mp” x-cantillationLevel=”0.1.0”
”strong=”m/5439|��������/�� x-
morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.1”
”strong=”l/4908|���������/�� x-
morph=”OSHM:HR/Ncmsc”�������|strong=”7141”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1885|������� x-morph=”OSHM:HNp”

”strong=”c/48|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 25 strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”1885”
x-morph=”OSHM:HNp” ”strong=”c/48|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
”strong=”c/3212|���������/�� x-
morph=”OSHM:HC/Vqw3mp” strong=”310|�/��������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”2205|�������� x-morph=”OSHM:HAampc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 26 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”413|���
x-morph=”OSHM:HR”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1.1” ”strong=”5493|�������
x-morph=”OSHM:HVqv2mp” ”strong=”4994|����
x-morph=”OSHM:HTe” x-cantillationLevel=”1.1.0.0”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”168|�������� x-morph=”OSHM:HNcmpc”
”strong=”d/376|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/7563|����������/���
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.1.0”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1” ”strong=”c/408|����/��
x-morph=”OSHM:HC/Tn”�����������|strong=”5060”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”6435|���� x-morph=”OSHM:HC”�����������|strong=”5595”
x-morph=”OSHM:HVNi2mp” x-cantillationLevel=”0.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�/����������|strong=”2403
b” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0”� 27 ”strong=”c/5927|���������/��
x-morph=”OSHM:HC/VNw3mp” x-cantillationLevel=”1.0.1”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”4908|��������� x-morph=”OSHM:HNcmsc”�������|strong=”7141”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
23 BHS has been faithful to the Leningrad
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Codexwhere theremight be a question
of the validity of the form andwe keep the
same form as BHS. ”strong=”1885|�������
x-morph=”OSHM:HNp” ”strong=”c/48|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
”strong=”m/5439|��������/�� x-
morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”1”
”strong=”c/1885|������/�� x-morph=”OSHM:HC/Np”
”strong=”c/48|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1.1.0” ”strong=”3318|��������
x-morph=”OSHM:HVqp3cp” ”strong=”5324|����������
x-morph=”OSHM:HVNrmpa” x-cantillationLevel=”0.1.1”
”strong=”6607|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.1.0” ”strong=”168|����/��������
x-morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”0.1” ”strong=”c/802|����/������/��
x-morph=”OSHM:HC/Ncfpc/Sp3mp”
strong=”c/1121|����/�����/��
a” x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/2945|�/������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� 28 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.4.0”
”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.4” ”strong=”b/2063|�����/���
x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”1.3.0”
”strong=”3045|�/���������� x-morph=”OSHM:HVqi2mp/Sn”
x-cantillationLevel=”1.3” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”7971|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cs” x-
cantillationLevel=”1.2” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1”
”strong=”853|���� x-morph=”OSHM:HTo”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����������/����|strong=”d/4639”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1” strong=”3588|����
a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” x-cantillationLevel=”0.0”
strong=”m/3820|�/�������/�� a”
x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0”� 29 strong=”518|���
a” x-morph=”OSHM:HC”�����/����|strong=”k/4194”
x-morph=”OSHM:HR/Ncmsc” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/����|strong=”d/120”

x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”4191|�/�������� x-morph=”OSHM:HVqi3mp/Sn”
”strong=”428|������� x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.2” ”strong=”c/6486|���������/��
x-morph=”OSHM:HC/Ncfsc” x-cantillationLevel=”1.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/����|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
strong=”6485|��������� a” x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1.0” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”7971|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cs” x-
cantillationLevel=”0”� 30 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�����������|strong=”1278”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.2.0”
strong=”1254|�������� a” x-morph=”OSHM:HVqi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.2” ”strong=”c/6475|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”853|���
x-morph=”OSHM:HTo”���/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.1.1”
”strong=”c/1104|��������/�� x-morph=”OSHM:HC/Vqq3fs”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1”
”strong=”c/3381|��������/�� x-morph=”OSHM:HC/Vqq3cp”
strong=”2416|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”7585|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1”
”strong=”c/3045|����������/���
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”5006|��������� x-morph=”OSHM:HVpp3cp”
x-cantillationLevel=”0.0.0” ”strong=”d/376|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/��
x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
31 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.0” ”strong=”k/3615|��/�������/���
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x-morph=”OSHM:HR/Vpc/Sp3ms” x-
cantillationLevel=”1.2” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.1”
”strong=”853|���� x-morph=”OSHM:HTo”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1” ”strong=”c/1234|����������/��
x-morph=”OSHM:HC/VNw3fs” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”8478|����/��������� x-
morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
32 strong=”c/6605|����������/��
a” x-morph=”OSHM:HC/Vqw3fs” ”strong=”d/776|�������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.1”
”strong=”c/1104|���������/�� x-
morph=”OSHM:HC/Vqw3fs” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����/��������|strong=”1004
b” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”l/7141|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/7399”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
33 ”strong=”c/3381|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0.0”
”strong=”1992|���� x-morph=”OSHM:HPp3mp”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0.0”
strong=”2416|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”7585|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1”
”strong=”c/3680|�������/�� x-morph=”OSHM:HC/Vpw3fs”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”

x-cantillationLevel=”0.1.0” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/6|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”m/8432|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6951|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
34 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.0.0” ”strong=”5439|����/����������
x-morph=”OSHM:HNcbpc/Sp3mp” x-
cantillationLevel=”1.0” ”strong=”5127|������
x-morph=”OSHM:HVqp3cp” strong=”l/6963|�/�����/��
a” x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”559|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1”
”strong=”6435|���� x-morph=”OSHM:HC”���/�����������|strong=”1104”
x-morph=”OSHM:HVqi3fs/Sp1cp” x-cantillationLevel=”0.0”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 35 ”strong=”c/784|�����/��
x-morph=”OSHM:HC/Ncbsa” ”strong=”3318|��������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.1”
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x-morph=”OSHM:HTd/Acbpa” ”strong=”c/3967|����������/��
x-morph=”OSHM:HC/Acbda” x-cantillationLevel=”0.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”7126|�����������
x-morph=”OSHM:HVhrmpc” x-cantillationLevel=”0.0”
”strong=”d/7004|���������/�� x-
morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
�

17 24 KJV:Num.16.36
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morph=”OSHM:HNp” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HR/Vqc” x-
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x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” strong=”c/7311|������/��
a” x-morph=”OSHM:HC/Vhj3ms”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/4289”
x-morph=”OSHM:HTd/Ncfpa” x-
cantillationLevel=”1.1.0” ”strong=”m/996|������/��
x-morph=”OSHM:HR/R” ”strong=”d/8316|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����/���|strong=”d/784”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.0” ”strong=”2219|�����
x-morph=”OSHM:HVqv2ms”���������|strong=”1973”
x-morph=”OSHM:HD” x-cantillationLevel=”1”
strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.0”
”strong=”6942|��������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 3 26
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morph=”OSHM:HNcfpc” ”strong=”d/2400|����������/���
x-morph=”OSHM:HTd/Aampa”
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morph=”OSHM:HTd/Pdxcp” x-
cantillationLevel=”1.1.1.0” ”strong=”b/5315|�/����������/���
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
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b” x-morph=”OSHM:HNcmpa” x-

cantillationLevel=”1.1.0” ”strong=”6826|��������
x-morph=”OSHM:HNcmsa” ”strong=”l/4196|�����������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�/�����������|strong=”7126”
x-morph=”OSHM:HVhp3cp/Sp3mp”
”strong=”l/6440|������/�� x-
morph=”OSHM:HR/Ncbpc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/6942|�������������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqi3mp”
”strong=”l/226|�����/�� x-
morph=”OSHM:HR/Ncbsa” x-
cantillationLevel=”0.0” strong=”l/1121|������/��
a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
4 27 KJV:Num.16.39 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.1.1.0” ”strong=”499|����������
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0”
”strong=”4289|���������� x-
morph=”OSHM:HNcfpc” strong=”d/5178|����������/��
a” x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7126|�����������
x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1.0” ”strong=”d/8313|�����������/��
x-morph=”OSHM:HTd/Vqsmpa” x-
cantillationLevel=”1” ”strong=”c/7554|�/�����������/���
x-morph=”OSHM:HC/Vpw3mp/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”6826|��������
x-morph=”OSHM:HNcmsa” ”strong=”l/4196|�����������/��
x-morph=”OSHM:HRd/Ncmsa” x-
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cantillationLevel=”1.1.2.0” strong=”l/1121|������/��
a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-
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x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”1.1.1.0” ”strong=”376|������
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a” x-morph=”OSHM:HTr” x-
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x-morph=”OSHM:HR/Ncmsc”
”strong=”175|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.1” strong=”l/6999|���������/��
a” x-morph=”OSHM:HR/Vhc”
”strong=”7004|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-
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morph=”OSHM:HC/Tn”���������|strong=”1961”
x-morph=”OSHM:HVqi3ms” ”strong=”k/7141|�������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1.0” ”strong=”c/k/5712|��/������/���/��
x-morph=”OSHM:HC/R/Ncfsc/Sp3ms”
x-cantillationLevel=”0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr”
”strong=”1696|�������� x-
morph=”OSHM:HVpp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”b/3027|���/��� x-
morph=”OSHM:HR/Ncbsc”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”

”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 6 29
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a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”m/4283|���������/���
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-
morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1” strong=”859|�������
d” x-morph=”OSHM:HPp2mp”
”strong=”4191|��������� x-
morph=”OSHM:HVhp2mp” x-
cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”5971
a” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 30 KJV:Num.16.42 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.2.1” ”strong=”b/6950|���������/���
x-morph=”OSHM:HR/VNc” ”strong=”d/5712|������/���
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.2.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/6437|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”168”
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
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cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”3680|��/�������
x-morph=”OSHM:HVpp3ms/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”d/6051|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/VNw3ms” x-
cantillationLevel=”0.0” ”strong=”3519|��������
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
8 31 KJV:Num.16.43 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”c/175|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” x-
cantillationLevel=”0.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� � 9 32
KJV:Num.16.44 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 10 33
KJV:Num.16.45 ”strong=”7426|���������
x-morph=”OSHM:HVNv2mp” x-
cantillationLevel=”1.1.1” ”strong=”m/8432|�������/��
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.1.0” ”strong=”d/5712|������/��
x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-
morph=”OSHM:HTd/Pdxfs” x-
cantillationLevel=”1.1” ”strong=”c/3615|���������/��
x-morph=”OSHM:HC/Vpi1cs”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”

x-cantillationLevel=”1.0” ”strong=”k/7281|������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/5307|����������/���
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”����/�������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3mp”
x-cantillationLevel=”0”� 11 34
KJV:Num.16.46 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|���� x-morph=”OSHM:HR”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”3947|���� x-morph=”OSHM:HVqv2ms”
”strong=”853|��� x-morph=”OSHM:HTo”���������/����|strong=”d/4289”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1.0.1” ”strong=”c/5414|���/��
x-morph=”OSHM:HC/Vqv2ms”��/�������|strong=”5921
a” x-morph=”OSHM:HR/Sp3fs”
”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”d/4196|������������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” strong=”c/7760|������/��
a” x-morph=”OSHM:HC/Vqv2ms”
”strong=”7004|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vhv2ms”
”strong=”4120|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.0” strong=”c/3722|�������/��
a” x-morph=”OSHM:HC/Vpv2ms”
strong=”5921|����/����� a”
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”3318”
x-morph=”OSHM:HVqp3ms” strong=”d/7110|�������/��
a” x-morph=”OSHM:HTd/Ncmsa” x-
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cantillationLevel=”0.0.0” ”strong=”m/l/6440|������/���/��
x-morph=”OSHM:HR/R/Ncbpc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”2490|������ c” x-
morph=”OSHM:HVhp3ms” ”strong=”d/5063|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0”� 12 35
KJV:Num.16.47 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”175|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.1”
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d” x-morph=”OSHM:HR/Tr” x-
cantillationLevel=”1.1.1.0” �
”strong=”1696|�������� x-
morph=”OSHM:HVpp3ms” ”strong=”4872|�������
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”strong=”d/6951|�������/��
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morph=”OSHM:HVhp3ms” ”strong=”d/5063|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” strong=”b/5971|����/���
a” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1.0” ”strong=”853|����
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x-morph=”OSHM:HTd/Ncfsa” x-
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a” x-morph=”OSHM:HC/Vpw3ms” x-
cantillationLevel=”0.0” strong=”5921|���

a” x-morph=”OSHM:HR”����/���|strong=”d/5971
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KJV:Num.16.48 ”strong=”c/5975|���������/��
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x-morph=”OSHM:HR”��������/���|strong=”d/4191”
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of the form and we keep the same form as BHS.
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x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�������������|strong=”4931”
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.1.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”l/3605|����/��
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0” ”strong=”5656|��������
x-morph=”OSHM:HNcfsc” ”strong=”d/168|������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” strong=”c/2114|����/��
a” x-morph=”OSHM:HC/Aamsa” x-
cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”7126”
x-morph=”OSHM:HVqi3ms” ”strong=”413|����/�����
x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0”� 5
”strong=”c/8104|������������/��
x-morph=”OSHM:HC/Vqq2mp” x-
cantillationLevel=”1.1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0”
”strong=”4931|����������� x-
morph=”OSHM:HNcfsc” ”strong=”d/6944|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-
cantillationLevel=”1.0” ”strong=”4931|�����������
x-morph=”OSHM:HNcfsc” ”strong=”d/4196|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”1961”
x-morph=”OSHM:HVqi3ms” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
strong=”7110|������ a” x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”1121

a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-
cantillationLevel=”1.1.1” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”3947|������������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/������|strong=”251”
x-morph=”OSHM:HNcmpc/Sp2mp”
”strong=”d/3881|���������/��
x-morph=”OSHM:HTd/Ngmpa” x-
cantillationLevel=”1.1” ”strong=”m/8432|�������/��
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.2.0.0” ”strong=”4979|���������
x-morph=”OSHM:HNcfsa” ”strong=”5414|���������
x-morph=”OSHM:HVqsmpa” x-
cantillationLevel=”0.2.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.2” ”strong=”l/5647|������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.1” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”5656”
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”0.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 7 strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms”
strong=”c/1121|��/������/��
a” x-morph=”OSHM:HC/Ncmpc/Sp2ms”
”strong=”854|��/������ x-
morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0.0.1” ”strong=”8104|������������
x-morph=”OSHM:HVqi2mp” ”strong=”853|���
x-morph=”OSHM:HTo”����/�����������|strong=”3550”
x-morph=”OSHM:HNcfsc/Sp2mp” x-
cantillationLevel=”1.0.0.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”��������|strong=”1697”
x-morph=”OSHM:HNcmsc” ”strong=”d/4196|�����������/��
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x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” strong=”c/l/m/1004|������/��/��/��
b” x-morph=”OSHM:HC/R/R/Ncmsc”
”strong=”l/6532|���������/��
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1.0” ”strong=”c/5647|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-
cantillationLevel=”1” ”strong=”5656|��������
x-morph=”OSHM:HNcfsc” ”strong=”4979|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1.1” ”strong=”5414|�������
x-morph=”OSHM:HVqi1cs” x-
cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/�����������|strong=”3550”
x-morph=”OSHM:HNcfsc/Sp2mp” x-
cantillationLevel=”0.1” strong=”c/d/2114|�����/��/��
a” x-morph=”OSHM:HC/Td/Aamsa”
”strong=”d/7126|�������/��
x-morph=”OSHM:HTd/Aamsa” x-
cantillationLevel=”0.0” ”strong=”4191|�������
x-morph=”OSHM:HVHi3ms” x-
cantillationLevel=”0”� � 8
”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”413|���� x-morph=”OSHM:HR”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/589|������/�� x-
morph=”OSHM:HC/Pp1cs” x-
cantillationLevel=”1.1.0” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”5414|����������
x-morph=”OSHM:HVqp1cs” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”4931”
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.0” ”strong=”8641|�/�����������
x-morph=”OSHM:HNcfpc/Sp1cs” x-
cantillationLevel=”1” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”����������|strong=”6918”
x-morph=”OSHM:HNcmpc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.0”

”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
53 We read one or more ac-
cents in L differently than BHS.
Often this notation indicates
a typographical error in BHS.
”strong=”5414|�/��������� x-
morph=”OSHM:HVqp1cs/Sp3mp”
strong=”l/4888|���������/��
b” x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”0.0.0” strong=”c/l/1121|��/������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”l/2706|���/��
x-morph=”OSHM:HR/Ncmsc”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 9 ”strong=”2088|����
x-morph=”OSHM:HPdxms”���������|strong=”1961”
x-morph=”OSHM:HVqi3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0.0” ”strong=”m/6944|��������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/6944|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” strong=”4480|���
a” x-morph=”OSHM:HR”�����/���|strong=”d/784”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�/�����������|strong=”7133
a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1.1.1” ”strong=”l/3605|���/���
x-morph=”OSHM:HR/Ncmsc”�/����������|strong=”4503”
x-morph=”OSHM:HNcfsc/Sp3mp” x-
cantillationLevel=”0.1.1.0” ”strong=”c/l/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”�/����������|strong=”2403
b” x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0.1.1” ”strong=”c/l/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”��/��������|strong=”817”
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7725|����������
x-morph=”OSHM:HVhi3mp” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.1” ”strong=”6944|�������
x-morph=”OSHM:HNcmsc” ”strong=”6944|�����������
x-morph=”OSHM:HNcmpa” ”strong=”l|���/��

53c
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x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”0.0” strong=”c/l/1121|��/������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc/Sp2ms”
x-cantillationLevel=”0”� 10
”strong=”b/6944|�������/��� x-
morph=”OSHM:HR/Ncmsc” ”strong=”d/6944|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”398|����/���������
x-morph=”OSHM:HVqi2ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”2145”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0”
”strong=”398|������� x-morph=”OSHM:HVqi3ms”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”6944|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
11 ”strong=”c/2088|���/�� x-
morph=”OSHM:HC/Pdxms”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.1.0”
”strong=”8641|���������� x-
morph=”OSHM:HNcfsc” ”strong=”4976|�/��������
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.1.1” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�����������|strong=”8573”
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”1.1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”5414|�/��������� x-
morph=”OSHM:HVqp1cs/Sp3mp” x-
cantillationLevel=”1.0.1” strong=”c/l/1121|��/������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc/Sp2ms”
”strong=”c/l/1323|��/��������/��/��
x-morph=”OSHM:HC/R/Ncfpc/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”854|���/�����
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0”
”strong=”l/2706|���/�� x-morph=”OSHM:HR/Ncmsc”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”2889”
x-morph=”OSHM:HAamsa” strong=”b/1004|���/�����/���
b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”

x-cantillationLevel=”0.0” ”strong=”398|�������
x-morph=”OSHM:HVqi3ms” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0”�
12 ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.1.0” ”strong=”2459|������
x-morph=”OSHM:HNcmsc” ”strong=”3323|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”2459”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”8492|���������� x-morph=”OSHM:HNcmsa”
”strong=”c/1715|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1” ”strong=”7225|�/����������
x-morph=”OSHM:HNcfsc/Sp3mp” x-
cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”5414”
x-morph=”OSHM:HVqi3mp” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”5414|�/��������� x-
morph=”OSHM:HVqp1cs/Sp3mp” x-
cantillationLevel=”0”� 13 ”strong=”1061|�����������
x-morph=”OSHM:HNcbpc” x-cantillationLevel=”1.0.0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”b/776|�/�������/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”935”
x-morph=”OSHM:HVhi3mp” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”2889”
x-morph=”OSHM:HAamsa” strong=”b/1004|���/�����/���
b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”398|����/��������
x-morph=”OSHM:HVqi3ms/Sp3ms” x-
cantillationLevel=”0”� 14 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”2764
a” x-morph=”OSHM:HNcmsa” ”strong=”b/3478|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 15 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”6363
a” x-morph=”OSHM:HNcmsc” ”strong=”7358|������
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0.1”
”strong=”l/3605|���/��� x-morph=”OSHM:HR/Ncmsc”���������|strong=”1320”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0.0”
strong=”834|������ a” x-morph=”OSHM:HTr”������������|strong=”7126”
x-morph=”OSHM:HVhi3mp” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0.0”
”strong=”b/120|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”c/b/929|���������/��/��
x-morph=”OSHM:HC/Rd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1”
”strong=”389|����� x-morph=”OSHM:HTa”
x-cantillationLevel=”0.1.1.0” � ”strong=”6299|�������
x-morph=”OSHM:HVqa” ”strong=”6299|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.1.1”
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”0.1.0” ”strong=”1060|��������
x-morph=”OSHM:HNcmsc” ”strong=”d/120|������/���
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.0.0” ”strong=”1060|��������
x-morph=”OSHM:HNcmsc”���������/���|strong=”d/929”
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2931|���������/��
x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”0.0”
”strong=”6299|���������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 16 ”strong=”c/6299|��/�������/��
x-morph=”OSHM:HC/Vqsmsc/Sp3ms”
x-cantillationLevel=”1.2.0” strong=”m/1121|����/��
a” x-morph=”OSHM:HR/Ncmsc”��������|strong=”2320”
x-morph=”OSHM:HNcmsa” ”strong=”6299|����������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.2”
”strong=”b/6187|���/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”3701|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0.0”
”strong=”2568|��������� x-morph=”OSHM:HAcmsc”
”strong=”8255|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”b/8255|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6944|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”1626|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”�
17 ”strong=”389|����� x-morph=”OSHM:HTa”
”strong=”1060|�������� x-morph=”OSHM:HNcmsc”�������|strong=”7794”

x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0.1”
strong=”176|���� a” x-morph=”OSHM:HC”��������|strong=”1060”
x-morph=”OSHM:HNcmsc” ”strong=”3775|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0.0”
strong=”176|���� a” x-morph=”OSHM:HC”��������|strong=”1060”
x-morph=”OSHM:HNcmsc” ”strong=”5795|����
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”6299|��������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1.0” ”strong=”6944|�������
x-morph=”OSHM:HNcmsa” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”1818”
x-morph=”OSHM:HNcmsc/Sp3mp” x-
cantillationLevel=”0.1.0.0” ”strong=”2236|���������
x-morph=”OSHM:HVqi2ms” strong=”5921|���
a” x-morph=”OSHM:HR”������������/���|strong=”d/4196”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/���������|strong=”2459”
x-morph=”OSHM:HNcmsc/Sp3mp” strong=”6999|����������
a” x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0.1”
”strong=”801|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0.0” ”strong=”l/7381|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”5207|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 18 ”strong=”c/1320|�/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”1961|�������
x-morph=”OSHM:HVqi3ms”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1”
”strong=”k/2373|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/8573|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0.0”
”strong=”c/k/7785|������/��/��
x-morph=”OSHM:HC/R/Ncfsc” ”strong=”d/3225|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 19 ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.1.0”
� ”strong=”8641|���������� x-morph=”OSHM:HNcfpc”
”strong=”d/6944|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
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strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����������/���|strong=”d/5315”
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1961|������ x-morph=”OSHM:HVqp3cp”������|strong=”8033”

x-morph=”OSHM:HD” x-cantillationLevel=”1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��������/���|strong=”d/5060”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.1.1”
”strong=”b/6106|�������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1.0” strong=”176|����
a” x-morph=”OSHM:HC” strong=”b/2491|������/���
a” x-morph=”OSHM:HRd/Aamsa” x-cantillationLevel=”0.1”
strong=”176|���� a” x-morph=”OSHM:HC”
”strong=”b/4191|�����/�� x-morph=”OSHM:HRd/Vqrmsa”
x-cantillationLevel=”0.0” strong=”176|����
a” x-morph=”OSHM:HC” ”strong=”b/6913|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
19 strong=”c/5137|�������/�� a”
x-morph=”OSHM:HC/Vhq3ms” ”strong=”d/2889|�������/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/2931”
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.1”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/7992|������������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0”
”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/7637|�����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1”
”strong=”c/2398|���/������/��
x-morph=”OSHM:HC/Vpq3ms/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7637|�����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”0.1”
”strong=”c/3526|�������/�� x-morph=”OSHM:HC/Vpq3ms”
strong=”899|�/��������� b” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”c/7364|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/4325|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”c/2891|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”b/6153|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 20 ”strong=”c/376|������/��
x-morph=”OSHM:HC/Ncmsa” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”2930
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”2398|����������� x-morph=”OSHM:HVti3ms”
x-cantillationLevel=”1.1” ”strong=”c/3772|����������/��
x-morph=”OSHM:HC/VNq3fs” x-cantillationLevel=”1.0.0”
”strong=”d/5315|��������/�� x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”1.0” ”strong=”m/8432|�������/��
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x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6951|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”4720”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.1.0”
strong=”2930|������� a” x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0.0.1” ”strong=”4325|����
x-morph=”OSHM:HNcmpc” ”strong=”5079|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”2236”
x-morph=”OSHM:HVQp3ms” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”2931|������ x-morph=”OSHM:HAamsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 21 ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”l|����/���
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
54 BHS has been faithful to the Leningrad
Codexwhere theremight be a question
of the validity of the form andwe keep the
same form as BHS. ”strong=”l/2708|�������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”5769|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”c/5137|�������/�� a” x-morph=”OSHM:HC/Vhrmsc”
”strong=”4325|���� x-morph=”OSHM:HNcmpc”��������/���|strong=”d/5079”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.2.0”
”strong=”3526|��������� x-morph=”OSHM:HVpi3ms”
strong=”899|�/��������� b” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/d/5060|���������/��/��
x-morph=”OSHM:HC/Td/Vqrmsa” x-cantillationLevel=”0.1.0”
”strong=”b/4325|����/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/5079|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” strong=”2930|��������
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
”strong=”5704|��� x-morph=”OSHM:HR”������/���|strong=”d/6153”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
22 ”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”5060”
x-morph=”OSHM:HVqi3ms”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” ”strong=”d/2931|�������/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0”
strong=”2930|�������� a” x-morph=”OSHM:HVqi3ms”

x-cantillationLevel=”1” ”strong=”c/d/5315|��������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” ”strong=”d/5060|���������/��
x-morph=”OSHM:HTd/Vqrfsa” x-cantillationLevel=”0.0”
strong=”2930|��������� a” x-morph=”OSHM:HVqi3fs”
”strong=”5704|��� x-morph=”OSHM:HR”������/���|strong=”d/6153”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
�

20 ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw3mp”
strong=”1121|������ a”

x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/����|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa”
strong=”4057|�������� b” x-
morph=”OSHM:HNcmsc”�����|strong=”6790”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/2320|�������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/7223|���������/���
x-morph=”OSHM:HTd/Aomsa” x-
cantillationLevel=”1.1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/�� a” x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”b/6946|�������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1” ”strong=”c/4191|�������/��
x-morph=”OSHM:HC/Vqw3fs”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.1.0” ”strong=”4813|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/6912|����������/��
x-morph=”OSHM:HC/VNw3fs” x-
cantillationLevel=”0.0” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0”�
2 ”strong=”c/3808|���/�� x-
morph=”OSHM:HC/Tn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”4325|������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”l/5712|������/��
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/6950|�������������/��
x-morph=”OSHM:HC/VNw3mp” x-
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cantillationLevel=”0.1” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”c/5921|����/�� a” x-
morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
3 ”strong=”c/7378|�������/��
x-morph=”OSHM:HC/Vqw3ms”
strong=”d/5971|����/�� a” x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” strong=”5973|���
a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp”
”strong=”l/559|�����/�� x-
morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.1” ”strong=”c/3863|����/��
x-morph=”OSHM:HC/C” ”strong=”1478|����������
x-morph=”OSHM:HVqp1cp” x-
cantillationLevel=”0.0.0” ”strong=”b/1478|������/���
x-morph=”OSHM:HR/Vqc” ”strong=”251|���/������
x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
4 ”strong=”c/l/4100|����/��/��
x-morph=”OSHM:HC/R/Ti” ”strong=”935|���������
x-morph=”OSHM:HVhp2mp” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”6951”
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/4057
b” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-
cantillationLevel=”1” ”strong=”l/4191|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1”
”strong=”587|����������
x-morph=”OSHM:HPp1cp” x-
cantillationLevel=”0.0” ”strong=”c/1165|���/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cp”
x-cantillationLevel=”0”� 5

”strong=”c/l/4100|����/��/�� x-
morph=”OSHM:HC/R/Ti” ”strong=”5927|����/�����������
x-morph=”OSHM:HVhp2mp/Sp1cp”
x-cantillationLevel=”1.2.0” ”strong=”m/4714|�����������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.2” ”strong=”l/935|�������/��
x-morph=”OSHM:HR/Vhc” ”strong=”853|���/�����
x-morph=”OSHM:HTo/Sp1cp” x-
cantillationLevel=”1.1” ”strong=”413|���
x-morph=”OSHM:HR”��������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa”
strong=”d/7451|����/�� a” x-
morph=”OSHM:HTd/Aamsa” x-
cantillationLevel=”1.0” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-
cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn” x-cantillationLevel=”0.1.1.0”
� ”strong=”4725|������� x-
morph=”OSHM:HNcmsc” ”strong=”2233|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.1” ”strong=”c/8384|��������/��
x-morph=”OSHM:HC/Ncfsa” ”strong=”c/1612|�������/��
x-morph=”OSHM:HC/Ncbsa” x-
cantillationLevel=”0.1.0” ”strong=”c/7416|��������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”c/4325|������/��
x-morph=”OSHM:HC/Ncmpa”
”strong=”369|������ x-morph=”OSHM:HTn”
x-cantillationLevel=”0.0” ”strong=”l/8354|���������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 6 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” ”strong=”c/175|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.1.1.0” ”strong=”m/6440|�������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”d/6951|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”6607”
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”1.1.0” ”strong=”168|������
x-morph=”OSHM:HNcmsa” ”strong=”4150|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”c/5307|����������/���
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x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”����/�������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/VNw3ms”
”strong=”3519|������ x-morph=”OSHM:HNcbsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|����/����� x-
morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0”� � 7
”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 8 ”strong=”3947|����
x-morph=”OSHM:HVqv2ms” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/4294”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.2” ”strong=”c/6950|��������/��
x-morph=”OSHM:HC/Vhv2ms”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1.1” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-
cantillationLevel=”1.1.0” ”strong=”c/175|��������/��
x-morph=”OSHM:HC/Np” ”strong=”251|��/������
x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/1696|������������/��
x-morph=”OSHM:HC/Vpq2mp”
”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/5553”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” strong=”l/5869|����/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/5414|������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”4325|�/������� x-
morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vhq2ms” 55
We read one or more accents in L

differently than BHS. Often this no-
tation indicates a typographical er-
ror in BHS. ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp”
”strong=”4325|������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1.0” strong=”4480|���
a” x-morph=”OSHM:HR”�������/���|strong=”d/5553”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”c/8248|�����������/��
x-morph=”OSHM:HC/Vhq2ms”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/����������|strong=”1165”
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 9
”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/4294”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”m/l/6440|������/���/��
x-morph=”OSHM:HR/R/Ncbpc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” x-
cantillationLevel=”0.0” ”strong=”6680|���/������
x-morph=”OSHM:HVpp3ms/Sp3ms”
x-cantillationLevel=”0”� 10
”strong=”c/6950|�����������/��
x-morph=”OSHM:HC/Vhw3mp” x-
cantillationLevel=”1.0.0.0” ”strong=”4872|�������
x-morph=”OSHM:HNp” ”strong=”c/175|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/6951”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/5553|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
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cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.2.1” ”strong=”8085|��������
x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”0.2.0”
”strong=”d/4784|��������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”0.2” strong=”i/4480|���/��
a” x-morph=”OSHM:HTi/R”�������/���|strong=”d/5553”
x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-
morph=”OSHM:HTd/Pdxms” x-
cantillationLevel=”0.1” ”strong=”3318|��������
x-morph=”OSHM:HVhi1cp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”0.0” ”strong=”4325|������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 11 strong=”c/7311|�������/��
a” x-morph=”OSHM:HC/Vhw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/�����|strong=”3027”
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”1.0.1” ”strong=”c/5221|������/��
x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/5553”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” ”strong=”b/4294|���/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”6471|�����������
x-morph=”OSHM:HNcfda” x-cantillationLevel=”1”
”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.1.0” ”strong=”4325|������
x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.1” ”strong=”c/8354|����������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”d/5712|������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.0” ”strong=”c/1165|�/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� � 12
”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
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x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-
morph=”OSHM:HC/To”��������/���|strong=”d/802”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��/��������|strong=”6897”
x-morph=”OSHM:HNcfsc/Sp3fs” x-
cantillationLevel=”1” ”strong=”c/6113|����������/��
x-morph=”OSHM:HC/VNw3fs” x-
cantillationLevel=”0.1.0” ”strong=”d/4046|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” x-
cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-

cantillationLevel=”1.1” ”strong=”d/4191|��������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”1.0” ”strong=”b/4046|����������/���
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” ”strong=”702|�����������
x-morph=”OSHM:HAcmsa” ”strong=”c/6242|����������/��
x-morph=”OSHM:HC/Acbpa” x-
cantillationLevel=”0.0” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-
cantillationLevel=”0”� � 10
”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 11
”strong=”6372|����������� x-
morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�����������|strong=”499”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”175”
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.1” ”strong=”7725|��������
x-morph=”OSHM:HVhp3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”2534”
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1.1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”b/7065|��/������/���
x-morph=”OSHM:HR/Vpc/Sp3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”7068”
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”b/8432|�/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�����������|strong=”3615”
x-morph=”OSHM:HVpp1cs” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”b/7068|�/���������/���
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x-morph=”OSHM:HR/Ncfsc/Sp1cs”
x-cantillationLevel=”0”� 12
strong=”l/3651|����/�� c” x-
morph=”OSHM:HR/D” x-cantillationLevel=”1.0”
”strong=”559|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1” ”strong=”2005|�/�������
x-morph=”OSHM:HTj/Sp1cs”
”strong=”5414|������ x-morph=”OSHM:HVqrmsa”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/����������|strong=”1285”
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”7965|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 13
”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/l/2233|��/������/��/��
x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
strong=”310|�/�������� a”
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”1285|��������
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.0” ”strong=”3550|����������
x-morph=”OSHM:HNcfsc” ”strong=”5769|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”8478|�������
x-morph=”OSHM:HR” x-cantillationLevel=”0.1.1”
strong=”834|������� a” x-
morph=”OSHM:HTr” ”strong=”7065|�������
x-morph=”OSHM:HVpp3ms” x-
cantillationLevel=”0.1.0” ”strong=”l/430|�/�������/���
x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0.1” strong=”c/3722|���������/��
a” x-morph=”OSHM:HC/Vpw3ms” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
14 ”strong=”c/8034|�����/�� x-
morph=”OSHM:HC/Ncmsc” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”d/5221|��������/��

x-morph=”OSHM:HTd/VHsmsa” x-
cantillationLevel=”1.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5221|�������
x-morph=”OSHM:HVHp3ms” x-
cantillationLevel=”1.1.0” ”strong=”854|���
x-morph=”OSHM:HR”������������/���|strong=”d/4084”
x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”1.1” strong=”2174|��������
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”5543
c” x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”5387|�������� a” x-
morph=”OSHM:HNcmsc” strong=”1004|�����
b” x-morph=”OSHM:HNcmsc”�����|strong=”1”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”l/8099|������������/��
x-morph=”OSHM:HRd/Ngmsa” x-
cantillationLevel=”0”� 15 ”strong=”c/8034|�����/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”d/802|��������/���
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/5221|��������/��
x-morph=”OSHM:HTd/VHsfsa” x-
cantillationLevel=”1.0.0” ”strong=”d/4084|������������/��
x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.0”
”strong=”3579|���������� x-
morph=”OSHM:HNp” ”strong=”1323|���
x-morph=”OSHM:HNcfsc”������|strong=”6698”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”7218|������ a” x-morph=”OSHM:HNcmsc”
”strong=”523|�������� x-morph=”OSHM:HNcfpa”
strong=”1004|������ b” x-morph=”OSHM:HNcmsc”�����|strong=”1”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0”
”strong=”b/4080|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� � 16 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
17 strong=”6887|������� d” x-
morph=”OSHM:HVqa” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������/���|strong=”d/4084”
x-morph=”OSHM:HTd/Ngmpa” x-
cantillationLevel=”1” ”strong=”c/5221|����������/��
x-morph=”OSHM:HC/Vhq2mp” x-
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cantillationLevel=”0.0” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”0”� 18 strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”6887|���������
d” x-morph=”OSHM:HVqrmpa” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1.1.0”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”b/5231|����/�������/���
x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”5230”
x-morph=”OSHM:HVpp3cp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”1697”
x-morph=”OSHM:HNcmsc”���������|strong=”6465”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��������|strong=”1697”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0.0”
”strong=”3579|���������� x-
morph=”OSHM:HNp” ”strong=”1323|���
x-morph=”OSHM:HNcfsc”���������|strong=”5387
a” x-morph=”OSHM:HNcmsc” ”strong=”4080|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”269|�/������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”d/5221|��������/��
x-morph=”OSHM:HTd/VHsfsa” ”strong=”b/3117|����/��
x-morph=”OSHM:HR/Ncmsc”����������/���|strong=”d/4046”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”1697”
x-morph=”OSHM:HNcmsc”���������|strong=”6465”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
19 62 KJV:Num.26.1 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0” strong=”310|��������
a” x-morph=”OSHM:HR” ”strong=”d/4046|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”
63 �26 ”strong=”c/559|��������/��

x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|�������

x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”

”strong=”c/413|����/�� x-
morph=”OSHM:HC/R” ”strong=”499|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”175”
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 2 ”strong=”5375|�������
x-morph=”OSHM:HVqv2mp” x-
cantillationLevel=”1.0.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0.1.0” �
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”5712”
x-morph=”OSHM:HNcfsc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
strong=”m/1121|�����/�� a”
x-morph=”OSHM:HR/Ncmsc”
”strong=”6242|���������� x-
morph=”OSHM:HAcbpa” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0.0” ”strong=”c/4605|�/�������/��
x-morph=”OSHM:HC/D/Sd” x-
cantillationLevel=”1.0” strong=”l/1004|�����/��
b” x-morph=”OSHM:HR/Ncmsc”
”strong=”1|�/������� x-
morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”3318”
x-morph=”OSHM:HVqrmsa” strong=”6635|������
a” x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”0.0” ”strong=”b/3478|�����������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� 3 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.0.0”
”strong=”c/499|����������/��
x-morph=”OSHM:HC/Np” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” ”strong=”853|�/�����

62+
631 BHS has been faithful to the Leningrad Codex where there might be a question of the validity
of the form and we keep the same form as BHS.
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x-morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”1.0” ”strong=”b/6160|���������/���
x-morph=”OSHM:HR/Ncfpc” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”3383”
x-morph=”OSHM:HNp” ”strong=”3405|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-
morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 4 strong=”m/1121|�����/��
a” x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0.0” ”strong=”6242|����������
x-morph=”OSHM:HAcbpa” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” ”strong=”c/4605|�/�������/��
x-morph=”OSHM:HC/D/Sd” x-
cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr”
”strong=”6680|������� x-
morph=”OSHM:HVpp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”d/3318|����������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”0.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”7205|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”1060|�������� x-
morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”1121|������� a” x-
morph=”OSHM:HNcmpc” ”strong=”7205|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1”
”strong=”2585|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”4940|������������ x-

morph=”OSHM:HNcfsc” ”strong=”d/2599|��������/��
x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”0.2” ”strong=”l/6396|��������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” ”strong=”4940|������������
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”0.0” ”strong=”d/6384|����������/��
x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 6
”strong=”l/2696|��������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1” ”strong=”4940|������������
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.0” ”strong=”d/2697|�����������/���
x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”1” ”strong=”l/3756|��������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” ”strong=”4940|������������
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”0.0” ”strong=”d/3757|���������/��
x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 7
”strong=”428|������� x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.0” ”strong=”4940|������������
x-morph=”OSHM:HNcfpc” ”strong=”d/7206|������������/��
x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”1” 64 BHS has
been faithful to the Leningrad Codex
where there might be a question
of the validity of the form and
we keep the same form as BHS.
”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp”
strong=”6485|����/������� a”
x-morph=”OSHM:HVqsmpc/Sp3mp”
x-cantillationLevel=”0.1.1” ”strong=”7969|����������
x-morph=”OSHM:HAcmsa” ”strong=”c/705|������������/��
x-morph=”OSHM:HC/Acbpa” x-
cantillationLevel=”0.1.0” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-
cantillationLevel=”0.1” ”strong=”c/7651|�������/��
x-morph=”OSHM:HC/Acfsa” ”strong=”3967|�������
x-morph=”OSHM:HAcbpa” x-
cantillationLevel=”0.0” ”strong=”c/7970|�����������/��

641



CONTENTS 191

x-morph=”OSHM:HC/Acbpa”
x-cantillationLevel=”0”� 8
strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc”
”strong=”6396|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”446|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc”
”strong=”446|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”5241|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/1885|������/�� x-
morph=”OSHM:HC/Np” ”strong=”c/48|���������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms”�������|strong=”1885”
x-morph=”OSHM:HNp” ”strong=”c/48|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.1.0”
”strong=”7121|����� x-morph=”OSHM:HVqsmpc”
x-wType=”x-ketiv” 65 ”strong=”d/5712|������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”5327|�������
a” x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”0.1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/5712|�����/��� x-
morph=”OSHM:HR/Ncfsc”�������|strong=”7141”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”b/5327|�/��������/���
a” x-morph=”OSHM:HR/Vhc/Sp3mp”
x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
10 strong=”c/6605|����������/��
a” x-morph=”OSHM:HC/Vqw3fs”
”strong=”d/776|������/�� x-
morph=”OSHM:HTd/Ncbsa” x-

cantillationLevel=”1.0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1.0.1” ”strong=”c/1104|���������/��
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x-morph=”OSHM:HNcfpc” ”strong=”3881|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”4940|������������ x-morph=”OSHM:HNcfsc”
”strong=”d/3846|���������/�� x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.1.0”
”strong=”4940|������������ x-morph=”OSHM:HNcfsc”
”strong=”d/2276|����������/���
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.1”
”strong=”4940|������������ x-morph=”OSHM:HNcfsc”
”strong=”d/4250|���������/�� x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.0”
”strong=”4940|������������ x-morph=”OSHM:HNcfsc”
”strong=”d/4188|���������/�� x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1”
”strong=”4940|������������ x-morph=”OSHM:HNcfsc”
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x-cantillationLevel=”1.0” ”strong=”d/7145|���������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1”
”strong=”c/6955|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”3205|�������
x-morph=”OSHM:HVhp3ms” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”6019”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
59 ”strong=”c/8034|�����/�� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”1.1.1.0” � ”strong=”802|�������
x-morph=”OSHM:HNcfsc” ”strong=”6019|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”3115|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”�������|strong=”3878”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3205|�������� x-morph=”OSHM:HVqp3fs”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs”
x-cantillationLevel=”1.0.0” ”strong=”l/3878|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”strong=”b/4714|����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/3205|�������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”l/6019|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.1” ”strong=”853|����
x-morph=”OSHM:HTo”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.0” ”strong=”4813|��������
x-morph=”OSHM:HNp” ”strong=”269|�/�������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0”�
60 ”strong=”c/3205|����������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”l/175|��������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”5070”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����������|strong=”30”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”499”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������|strong=”385”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
61 ”strong=”c/4191|�������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”5070|������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/30|����������/�� x-
morph=”OSHM:HC/Np” x-cantillationLevel=”1”
”strong=”b/7126|�/����������/���
x-morph=”OSHM:HR/Vhc/Sp3mp” ”strong=”784|����
x-morph=”OSHM:HNcbsa”�������|strong=”2114
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 62 ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”6485|����/�������
a” x-morph=”OSHM:HVqsmpc/Sp3mp”
x-cantillationLevel=”1.1.1” ”strong=”7969|����������
x-morph=”OSHM:HAcmsa” ”strong=”c/6242|����������/��
x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”1.1.0”
”strong=”505|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”1.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”2145”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
strong=”m/1121|����/�� a” x-morph=”OSHM:HR/Ncmsc”��������|strong=”2320”
x-morph=”OSHM:HNcmsa” ”strong=”c/4605|�/�������/��
x-morph=”OSHM:HC/D/Sd” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”0.2.1.0” � ”strong=”3808|����
x-morph=”OSHM:HTn” strong=”6485|�������������
a” x-morph=”OSHM:HVup3cp” x-cantillationLevel=”0.2.1”
”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.2.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
strong=”3588|����� a” x-morph=”OSHM:HC”
x-cantillationLevel=”0.1.0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”5414”
x-morph=”OSHM:HVNp3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”5159|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 63 ”strong=”428|�������
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”1.1.0”
strong=”6485|���������� a” x-morph=”OSHM:HVqsmpc”
”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/499|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
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”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6485|����������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/6160|���������/���
x-morph=”OSHM:HR/Ncfpc” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”5921|���� a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.0” ”strong=”3383|���������
x-morph=”OSHM:HNp” ”strong=”3405|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
64 ”strong=”c/b/428|��������/��/��
x-morph=”OSHM:HC/R/Pdxcp” x-cantillationLevel=”1.2.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
strong=”m/6485|����������/��
a” x-morph=”OSHM:HR/Vqsmpc” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/175|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6485|��������� a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”b/4057|���������/���
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”5514|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
65 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”4191|�����
x-morph=”OSHM:HVqa” ”strong=”4191|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0”
strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”3498”
x-morph=”OSHM:HVNp3ms” ”strong=”m|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.2.0”

”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2” strong=”3588|�����
b” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0”
strong=”518|��� b” x-morph=”OSHM:HC”��������|strong=”3612”
x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”����������|strong=”3312”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/3091|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������|strong=”5126”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�27 ”strong=”c/7126|�������������/��

x-morph=”OSHM:HC/Vqw3fp”
x-cantillationLevel=”1.1.1.0”

”strong=”1323|�������� x-
morph=”OSHM:HNcfpc” ”strong=”6765|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������|strong=”2660
a” x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”����������|strong=”1568”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”4353”
x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�����������|strong=”4519”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l/4940|������������/��
x-morph=”OSHM:HR/Ncfpc” x-
cantillationLevel=”1.0” ”strong=”4519|����������
x-morph=”OSHM:HNp” strong=”1121|���
a” x-morph=”OSHM:HNcmsc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/428|��������/��
x-morph=”OSHM:HC/Pdxcp” x-
cantillationLevel=”0.2.0” ”strong=”8034|��������
x-morph=”OSHM:HNcmpc” ”strong=”1323|�/���������
x-morph=”OSHM:HNcfpc/Sp3ms” x-
cantillationLevel=”0.2” ”strong=”4244|��������
x-morph=”OSHM:HNp” ”strong=”5270|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/2295|��������/�� x-
morph=”OSHM:HC/Np” ”strong=”c/4435|���������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.0” ”strong=”c/8656|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0”� 2 ”strong=”c/5975|�������������/���
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x-morph=”OSHM:HC/Vqw3fp” x-
cantillationLevel=”1.1.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”c/l/6440|������/��/��
x-morph=”OSHM:HC/R/Ncbpc” x-
cantillationLevel=”1.1.0” ”strong=”499|����������
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/l/6440|������/��/��
x-morph=”OSHM:HC/R/Ncbpc”
strong=”d/5387|�����������/��
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1” ”strong=”6607|�������
x-morph=”OSHM:HNcmsc” ”strong=”168|������
x-morph=”OSHM:HNcmsc”��������|strong=”4150”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 3 ”strong=”1|����/�����
x-morph=”OSHM:HNcmsc/Sp1cp” x-
cantillationLevel=”1.1.0” ”strong=”4191|����
x-morph=”OSHM:HVqp3ms” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.0.1.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/5712|������/�� x-
morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.0.1” ”strong=”d/3259|�����������/��
x-morph=”OSHM:HTd/VNrmpa” x-
cantillationLevel=”1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/5712|�����/��� x-
morph=”OSHM:HR/Ncfsc”�������|strong=”7141”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”

strong=”3588|����� a” x-
morph=”OSHM:HC”��/������/���|strong=”b/2399”
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
”strong=”4191|���� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1” strong=”c/1121|�������/��
a” x-morph=”OSHM:HC/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”1961”
x-morph=”OSHM:HVqp3cp” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 4
”strong=”l/4100|����/��� x-
morph=”OSHM:HR/Ti” ”strong=”1639|���������
x-morph=”OSHM:HVNi3ms” ”strong=”8034|����
x-morph=”OSHM:HNcmsc”����/�������|strong=”1”
x-morph=”OSHM:HNcmsc/Sp1cp” x-
cantillationLevel=”1.1.0” ”strong=”m/8432|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”4940|��/�������������
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0” strong=”1121|�����
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”5414|�/�����
x-morph=”OSHM:HVqv2ms/Sh”���/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cp”
”strong=”272|��������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”251|������
x-morph=”OSHM:HNcmpc” ”strong=”1|���/������
x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”0”� 5
”strong=”c/7126|���������/��
x-morph=”OSHM:HC/Vhw3ms”
”strong=”4872|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/������������|strong=”4941”
x-morph=”OSHM:HNcmsc/Sp3fp” x-
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cantillationLevel=”0.0” 66 Large
letter(s). Shown as large letters
without a superscript note num-
ber. ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 6 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 7 strong=”3651|�����
a” x-morph=”OSHM:HTm” x-
cantillationLevel=”1.2.1” ”strong=”1323|��������
x-morph=”OSHM:HNcfpc” ”strong=”6765|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”1696|��������� x-
morph=”OSHM:HVqrfpa” x-
cantillationLevel=”1.2” ”strong=”5414|������
x-morph=”OSHM:HVqa” ”strong=”5414|��������
x-morph=”OSHM:HVqi2ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1.1.0” ”strong=”272|���������
x-morph=”OSHM:HNcfsc” ”strong=”5159|��������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0” ”strong=”251|������
x-morph=”OSHM:HNcmpc” ”strong=”1|����/�����
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” strong=”c/5674|�������������/��
a” x-morph=”OSHM:HC/Vhq2ms” x-
cantillationLevel=”0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”5159”
x-morph=”OSHM:HNcfsc” ”strong=”1|����/�����
x-morph=”OSHM:HNcmsc/Sp3fp” x-
cantillationLevel=”0.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3fp” x-
cantillationLevel=”0”� 8 ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”

”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”1696|���������� x-
morph=”OSHM:HVpi2ms” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”4191”
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.1.1” strong=”c/1121|����/��
a” x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.1” strong=”c/5674|��������������/��
a” x-morph=”OSHM:HC/Vhq2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5159”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”l/1323|��/�����/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 9
strong=”c/518|���/�� a” x-
morph=”OSHM:HC/C”������|strong=”369”
x-morph=”OSHM:HTn” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”1323|�����
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5159”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”l/251|�/�����/��
x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 67 BHS
has been faithful to the Leningrad
Codex where there might be a ques-
tion of the validity of the form and
we keep the same form as BHS.
10 strong=”c/518|���/�� a” x-
morph=”OSHM:HC/C”������|strong=”369”
x-morph=”OSHM:HTn” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”251|�������
x-morph=”OSHM:HNcmpa” x-
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cantillationLevel=”1” ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5159”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”l/251|������/��
x-morph=”OSHM:HR/Ncmpc”
”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 11
strong=”c/518|���/�� a” x-
morph=”OSHM:HC/C”������|strong=”369”
x-morph=”OSHM:HTn” ”strong=”251|�������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0” ”strong=”l/1|��/�����/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”5159”
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”1.0.1” ”strong=”l/7607|��/�������/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0.0.0” ”strong=”d/7138|�������/��
x-morph=”OSHM:HTd/Aamsa”
”strong=”413|�/������ x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0.0” ”strong=”m/4940|��/��������������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/3423|�������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/1961|���������/���
x-morph=”OSHM:HC/Vqq3fs” x-
cantillationLevel=”0.1.0.0” strong=”l/1121|������/��
a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/2708|�������/�� x-
morph=”OSHM:HR/Ncbsc” ”strong=”4941|����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” x-
cantillationLevel=”0.0.0” ”strong=”6680|�������
x-morph=”OSHM:HVpp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 12 ”strong=”c/559|��������/��

x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”5927|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”d/5682|���������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.0”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2ms” x-
cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0”
strong=”l/1121|������/�� a” x-
morph=”OSHM:HR/Ncmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
13 ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqq2ms” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”1.1”
”strong=”c/622|������������/��
x-morph=”OSHM:HC/VNq2ms” ”strong=”413|���
x-morph=”OSHM:HR”��/��������|strong=”5971
b” x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”1571|����
x-morph=”OSHM:HTa”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1”
strong=”k/834|�������/��� d”
x-morph=”OSHM:HR/Tr” ”strong=”622|��������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.0”
”strong=”175|�������� x-morph=”OSHM:HNp”
”strong=”251|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 14 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”4784|���������
x-morph=”OSHM:HVqp2mp” ”strong=”6310|�/����
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1.1.0” strong=”b/4057|��������/���
b” x-morph=”OSHM:HR/Ncmsc”�����|strong=”6790”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”b/4808|���������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.1.0”
”strong=”d/5712|������/��� x-
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morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”l/6942|���/������������/��
x-morph=”OSHM:HR/Vhc/Sp1cs” ”strong=”b/4325|�������/��
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.0”
strong=”l/5869|����/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp3mp”
x-cantillationLevel=”1” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”0.0.0”
”strong=”4325|���� x-morph=”OSHM:HNcmpc”����������|strong=”4809”
x-morph=”OSHM:HNp” ”strong=”6946|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”4057|�������� b” x-morph=”OSHM:HNcmsc”�����|strong=”6790”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 15 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 16 strong=”6485|��������
a” x-morph=”OSHM:HVqi3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”d/7307|�������/�� x-
morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.0”
”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”���������|strong=”1320”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
17 strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”3318”
x-morph=”OSHM:HVqi3ms” ”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1.1.1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”935|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1.0”
”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1.1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”3318|�/���������
x-morph=”OSHM:HVhi3ms/Sp3mp”
x-cantillationLevel=”1.0” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”935|�/��������
x-morph=”OSHM:HVhi3ms/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3808|����/��

x-morph=”OSHM:HC/Tn” ”strong=”1961|��������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.2.0”
”strong=”5712|������ x-morph=”OSHM:HNcfsc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” ”strong=”k/6629|������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”369|���� x-morph=”OSHM:HTn”����/���|strong=”l”
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
strong=”7462|������ b” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 18 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”3947|��� x-morph=”OSHM:HVqv2ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3091”
x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”������|strong=”5126”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”7307”
x-morph=”OSHM:HNcbsa” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/5564|����������/��
x-morph=”OSHM:HC/Vqq2ms” ”strong=”853|���
x-morph=”OSHM:HTo”���/�����|strong=”3027”
x-morph=”OSHM:HNcbsc/Sp2ms” x-
cantillationLevel=”0.0” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0”� 19 ”strong=”c/5975|�������������/��
x-morph=”OSHM:HC/Vhq2ms” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1.1”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”1.1.0” ”strong=”499|����������
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/l/6440|������/��/��
x-morph=”OSHM:HC/R/Ncbpc” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/6680|����������/��
x-morph=”OSHM:HC/Vpq2ms” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.0”
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strong=”l/5869|����/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp3mp”
x-cantillationLevel=”0”� 20 ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq2ms” ”strong=”m/1935|���/������/��
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.0” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” ”strong=”4616|��������
x-morph=”OSHM:HR” ”strong=”8085|�����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”5712”
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 21 ”strong=”c/l/6440|������/��/��
x-morph=”OSHM:HC/R/Ncbpc” ”strong=”499|����������
x-morph=”OSHM:HNp” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”5975|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.1” ”strong=”c/7592|�������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0.0”
”strong=”b/4941|����������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/224|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”�/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”3318|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0.1.0”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”935|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0.1”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0.0.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�������|strong=”1121
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” ”strong=”854|��/�����
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
22 strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”4872|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”k/834|�������/��� d” x-

morph=”OSHM:HR/Tr” x-cantillationLevel=”1.0.0”
”strong=”6680|������� x-morph=”OSHM:HVpp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1”
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3091”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.2”
”strong=”c/5975|����/�����������/��
x-morph=”OSHM:HC/Vhw3ms/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.1.0”
”strong=”499|���������� x-morph=”OSHM:HNp”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/l/6440|������/��/��
x-morph=”OSHM:HC/R/Ncbpc” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/5712”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
23 ”strong=”c/5564|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�/�������|strong=”3027”
x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”1.0.0”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/6680|���/��������/��
x-morph=”OSHM:HC/Vpw3ms/Sp3ms”
x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0.0”
”strong=”1696|�������� x-morph=”OSHM:HVpp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�28 ”strong=”c/1696|���������/��

x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|�������

x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/���
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 2 ”strong=”6680|����
x-morph=”OSHM:HVpv2ms” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
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morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqq2ms” x-
cantillationLevel=”1.0” ”strong=”413|����/����
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1” ”strong=”853|���
x-morph=”OSHM:HTo”�/�����������|strong=”7133
a” x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”3899|�/������� x-
morph=”OSHM:HNcbsc/Sp1cs” x-
cantillationLevel=”0.2.1.0” ”strong=”l/801|�/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp1cs”
x-cantillationLevel=”0.2.1” ”strong=”7381|������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.2.0” ”strong=”5207|�/���������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.2” ”strong=”8104|������������
x-morph=”OSHM:HVqi2mp” x-
cantillationLevel=”0.1” ”strong=”l/7126|���������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”b/4150|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 3
”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqq2ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2” ”strong=”2088|����
x-morph=”OSHM:HPdxms” x-
cantillationLevel=”1.1.0” ”strong=”d/801|��������/���
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7126|������������
x-morph=”OSHM:HVhi2mp” x-
cantillationLevel=”1.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1” ”strong=”3532|�����������
x-morph=”OSHM:HNcmpa” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” ”strong=”8549|���������
x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.0.0” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” ”strong=”l/3117|������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.0” strong=”5930|������
a” x-morph=”OSHM:HNcfsa”

”strong=”8548|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 4 ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/3532”
x-morph=”OSHM:HTd/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”6213|����������
a” x-morph=”OSHM:HVqi2ms”
”strong=”b/1242|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-
cantillationLevel=”0.1.0” ”strong=”d/3532|��������/��
x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/8145|��������/��
x-morph=”OSHM:HTd/Aomsa” x-
cantillationLevel=”0.1” strong=”6213|����������
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x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”

”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” ”strong=”1961|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0”�
14 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”5560|������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
strong=”1101|���������� a” x-morph=”OSHM:HVqsfsa”
”strong=”b/8081|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”7969|����������
x-morph=”OSHM:HAcmsa” ”strong=”6241|������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.1.0”
”strong=”l/6499|�����/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/259|������/��� x-morph=”OSHM:HTd/Acmsa”
x-cantillationLevel=”0.2.1” ”strong=”l/7969|����������/��
x-morph=”OSHM:HR/Acmsa” ”strong=”6240|�������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.2.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2” ”strong=”8147|�������
x-morph=”OSHM:HAcmdc” ”strong=”6241|������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
strong=”l/352|������/�� a” x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/259|������/��� x-morph=”OSHM:HTd/Acmsa”
x-cantillationLevel=”0.1” ”strong=”l/8147|�������/��
x-morph=”OSHM:HR/Acmdc” x-cantillationLevel=”0.0”
strong=”d/352|�������/�� a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 15 ”strong=”c/6241|������������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.0”
68 Puncta extraordinaria – a 0̆5c4 is used
to mark such marks in the text when
they are above the line and a 0̆5c5when
they are below the line. ”strong=”6241|�����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”l/3532|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”d/259|������/��
x-morph=”OSHM:HTd/Acmsa” x-cantillationLevel=”1”
”strong=”l/702|�����������/��
x-morph=”OSHM:HR/Acmsa” ”strong=”6240|�������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 16 strong=”c/8163|�������/��
b” x-morph=”OSHM:HC/Ncmsc”���������|strong=”5795”

684
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x-morph=”OSHM:HNcfpa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0”
strong=”2403|�������� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”4503|��/���������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs”
x-cantillationLevel=”0”� � 17 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/8145|��������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.1”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”�������|strong=”1241”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0.0”
”strong=”8147|�������� x-morph=”OSHM:HAcmda”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”352|�������
a” x-morph=”OSHM:HNcmpa” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
18 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp”
”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
19 strong=”c/8163|�������/�� b”
x-morph=”OSHM:HC/Ncmsc”���������|strong=”5795”
x-morph=”OSHM:HNcfpa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0”

strong=”2403|�������� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/4503|��/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs” x-
cantillationLevel=”0.0” ”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0”� � 20 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/7992|������������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
”strong=”6249|��������� x-morph=”OSHM:HAobpc”��������|strong=”6240”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0”
strong=”352|������� a” x-morph=”OSHM:HNcmpa”
”strong=”8147|��������� x-morph=”OSHM:HAcmda”
x-cantillationLevel=”1” ”strong=”3532|�����������
x-morph=”OSHM:HNcmpa” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
21 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp”
”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
22 strong=”c/8163|��������/��
b” x-morph=”OSHM:HC/Ncmsc” strong=”2403|��������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”0.1” ”strong=”c/4503|��/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs” x-
cantillationLevel=”0.0” ”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs”
x-cantillationLevel=”0”� � 23 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/7243|���������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
”strong=”6235|��������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”352|�������
a” x-morph=”OSHM:HNcmpa” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
24 ”strong=”4503|�/��������� x-
morph=”OSHM:HNcfsc/Sp3mp” ”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
25 strong=”c/8163|�������/�� b”
x-morph=”OSHM:HC/Ncmsc”���������|strong=”5795”
x-morph=”OSHM:HNcfpa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0”
strong=”2403|�������� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”4503|��/���������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-
cantillationLevel=”0”� � 26 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/2549|����������/��

x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
”strong=”8672|���������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”352|�������
a” x-morph=”OSHM:HNcmpa” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
27 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp”
”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
28 strong=”c/8163|��������/�� b”
x-morph=”OSHM:HC/Ncmsc” strong=”2403|��������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/4503|��/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs” x-
cantillationLevel=”0.0” ”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-
cantillationLevel=”0”� � 29 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/8345|����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
”strong=”8083|��������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”352|�������
a” x-morph=”OSHM:HNcmpa” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
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”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
30 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp” ”strong=”c/5262|����/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”�
31 strong=”c/8163|��������/�� b”
x-morph=”OSHM:HC/Ncmsc” strong=”2403|��������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”4503|��/���������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3fs” x-
cantillationLevel=”0”� � 32 ”strong=”c/b/3117|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/7637|�����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0”
”strong=”6499|�������� x-morph=”OSHM:HNcmpa”
”strong=”7651|��������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” strong=”352|�������
a” x-morph=”OSHM:HNcmpa” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” x-cantillationLevel=”1”
”strong=”3532|����������� x-morph=”OSHM:HNcmpa”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”��������|strong=”8141”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”702|����������� x-morph=”OSHM:HAcmsa”
”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.0” ”strong=”8549|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�

33 ”strong=”c/4503|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3mp” ”strong=”c/5262|����/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0.0.1” ”strong=”l/6499|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0.0.0”
strong=”l/352|�������/�� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”c/l/3532|�����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”0.0.0”
”strong=”b/4557|�/����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/4941|�/�����������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� 34 strong=”c/8163|��������/��
b” x-morph=”OSHM:HC/Ncmsc” strong=”2403|��������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1” ”strong=”m/l/905|����/���/��
x-morph=”OSHM:HR/R/Ncmsc” x-cantillationLevel=”0.1.0”
strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”4503|��/���������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”c/5262|��/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-
cantillationLevel=”0”� � 35 ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”d/8066|�����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.1”
”strong=”6116|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”4399”
x-morph=”OSHM:HNcfsc” ”strong=”5656|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
strong=”6213|��������� a” x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0”� 36 ”strong=”c/7126|�������������/��
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x-morph=”OSHM:HC/R” x-cantillationLevel=”1.0”
strong=”1350|������� a” x-morph=”OSHM:HVqrmsc”
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x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/7523”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.2.1”
”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”1.2.0” strong=”1350|�������
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
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x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1.0” strong=”834|������
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x-cantillationLevel=”0.1.1” ”strong=”5704|���
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x-morph=”OSHM:HVqp3ms” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
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x-cantillationLevel=”1.0” strong=”5892|�����
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cantillationLevel=”1” ”strong=”c/7523|������/��
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x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0.0”
strong=”1350|������� a” x-morph=”OSHM:HVqrmsc”
”strong=”d/1818|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/����|strong=”d/7523”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.1”
”strong=”369|����� x-morph=”OSHM:HTn”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”1818|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
28 strong=”3588|����� a” x-morph=”OSHM:HC”
strong=”b/5892|�����/�� b” x-morph=”OSHM:HR/Ncfsc”
”strong=”4733|���/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”3427|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1”
”strong=”5704|��� x-morph=”OSHM:HR”������|strong=”4194”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
strong=”d/1419|�������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1” strong=”c/310|��������/��
a” x-morph=”OSHM:HC/R” ”strong=”4194|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
strong=”d/1419|�������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.2” ”strong=”7725|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1.0”
”strong=”d/7523|�������/�� x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.0”
”strong=”272|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 29 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”428|�������
x-morph=”OSHM:HPdxcp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0.0”
”strong=”l/2708|�������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”l/1755|����/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”1” ”strong=”b/3605|����/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HNcmpc/Sp2mp” x-
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x-morph=”OSHM:HNcmsc”��������|strong=”5221”
x-morph=”OSHM:HVhrmsc”��������|strong=”5315”

x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.2”
”strong=”l/6310|����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”5707|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”7523|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/7523”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1”
”strong=”c/5707|����/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0.1” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”6030
b” x-morph=”OSHM:HVqi3ms” ”strong=”b/5315|�������/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HC/Tn”���������|strong=”3947”
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a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”l/5315|�������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”7523|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1” strong=”834|������
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x-morph=”OSHM:HPp3ms” ”strong=”7563|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
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a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”l/5127|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”������|strong=”5892
b” x-morph=”OSHM:HNcfsc” ”strong=”4733|��/��������
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”l/7725|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0”
”strong=”l/3427|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”5704|���
x-morph=”OSHM:HR”������|strong=”4194”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”0”� 33 ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”������������|strong=”2610”
x-morph=”OSHM:HVhi2mp” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.2.1”
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strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”1.2.0” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”d/1818|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”2610|���������
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
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morph=”OSHM:HC/Rd/Ncbsa” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”3722
a” x-morph=”OSHM:HVPi3ms” x-cantillationLevel=”0.1.1”
”strong=”l/1818|�����/�� x-morph=”OSHM:HRd/Ncmsa”
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strong=”859|������� d” x-morph=”OSHM:HPp2mp”
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x-cantillationLevel=”1.0” ”strong=”7931|�������
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”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
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a” x-morph=”OSHM:HR/Ncmpc”
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morph=”OSHM:HNp” x-cantillationLevel=”0”�
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x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”113”
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”6680|�������
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morph=”OSHM:HR/Vqc” ”strong=”853|���
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morph=”OSHM:HC/Ncmsc/Sp1cs”
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